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Question Number : 1 Question Id : 21052912731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Where ‘Mahatma Gandhi Integrated Farming Research Institute’ is situated?

1. Motihari
2. Patna

3. Meerut
4, Sabour

Options :

21052950201. 1
21052950202. 2
21052950203. 3
21052950204. 4

Question Number : 1 Question Id : 21052912731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
eI e Uhidd Wdl A9~ TH $al d 82

1. Hifderd
2. Uadl

3. WG
4, FaR

Options :

21052950201. 1
21052950202. 2
21052950203. 3
21052950204. 4

Question Number : 2 Question Id : 21052912732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: The physical condition related to the soil-structural changes which promote
good seed germination and crop establishment is called tilth.

Statement Il: The capillary and non-capillary pores are not in equal proportion when soil is in
good tilth.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | Is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950205. 1
21052950206. 2
21052950207. 3
21052950208. 4

Question Number : 2 Question Id : 21052912732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&Y - | Hifd® G2 il Jal S3a-1 § uRad- § Sw&ied gidl & o 3w &l 3igru U9 Bad
R0 &1 deidl fHaal & &1 YU Had ol

HY - || ; PIRIDI UG HBRADT Ul &1 YA UTd 8] eidl & 99 Jal 3= Hy H el
Sudad dYHl & Hale J Fafafed fGedd § 8 98 W ;

1. GHFI PY | Td Y || T8l 2
2. GHI ®Y | Td &Y |1 TTed g
3. $YT | Gal & dihd &Y 11 7Tad 8
4, HYF | Tod & i PU 11 Gl ol |

Options :

21052950205. 1
21052950206. 2
21052950207. 3
21052950208. 4
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Question Number : 3 Question Id : 21052912733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How much money is transferred annually to each farmer under PM-KISAN Scheme?

1. Rs. 12000
2. Rs. 6000
3. Rs. 2000
4. Rs. 5000

Options :

21052950209. 1
21052950210. 2
21052950211. 3
21052950212. 4

Question Number : 3 Question Id : 21052912733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PM-KISAN TISHT & 3idifd Ud® fham & A fear o fGar Jar g2

1. 12000 TUY
2. 6000 YT
3. 2000 ¥9Y
4, 5000 3UY

Options :

210529502009. 1
21052950210. 2
21052950211. 3
21052950212. 4

Question Number : 4 Question Id : 21052912734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: India is the largest producer and consumer of pulses in the world.
Reason R: Pulses are grown in irrigated conditions and well fertile soils in India.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950213. 1
21052950214. 2
21052950215. 3
21052950216. 4

Question Number : 4 Question Id : 21052912734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR sy Rum e @ o AUHY (A) R TR &I I (R) Tl T 8
HUHYH (A) : YR, gFHa1 H Gad 931 Gaed SUGH U4 SUHE © |

dd (R) : Goled, ¥R H 331 39S Jal ud Rifa ulfRufaarl & 3oms ndi § |
Iugdd HYHl & il H Fgifed [dhel # ¥ T8 I I -

1. (A) 3R (R) TFI Tl & 31R (R), (A) P! Gal a1l &

2. (A) 3R (R) THT HET & TR (R), (A) I Hel oATEA el &
3. (A) T8l 8 U3 (R) el 6l &

4. (A) HEl 161 8 U3 (R) ¥l o

Options :

21052950213. 1
21052950214. 2
21052950215. 3
21052950216. 4
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Question Number : 5 Question Id : 21052912735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Soil fertility is the inherent capacity of the soil to provide balanced nutrients to
the crop plants.

Reason R : A fertile soil i1s not necessarily to be a good productive because productivity
depends on may factor like adverse climate, waterlogging, soil reaction etc.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is the correct explanation of A
3. A is true but R is false
4. A is false but R is true

Options :

21052950217. 1
21052950218. 2
21052950219. 3
21052950220. 4

Question Number : 5 Question Id : 21052912735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TPy R g U oI AfHYH (A) IR W &I 9 (R) Tl T 8|

HYDHYH (A) : Fa&I Iad], Hal B WIHIAD &Hdl Bldl & ol Bad & Uiyl &I Ydfcrd 361 H ue
dcd UG Pl © |

dd (R): T &R ol & 1 TP IaX Hal Ud D] IAGH of Gdhdl o a411® IdGhHdl By DR
W AR 1l 8 o ufdad siaarg, Sid W14, gaT sifufear s |

Iudad YAl B e H Fgifd [dhedl § 9§81 IR 9 -

1. (A) AR (R) GFT TEI & 3R (R), (A) B! Yl ARAT 5|

2. (A) 3R (R) THI W81 § U3 (R), (A) P! Hel oI T8l ¢
3. (A) 981 8 U3 (R) ¥ol 161 & |

4. (A) W6l 981 & U3 (R) FRI B
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Options :

21052950217. 1
21052950218. 2
21052950219. 3
21052950220. 4

Question Number : 6 Question Id : 21052912736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements

A. Food security means that all people at all times have access to safe and nutritious food to
maintain healthy and active life.

B. India is self-sufficient in food grain production.
C. Net sown area of India is about 152 million hectares.

D. Millet grains are highly nutritious food as they are good source of protein, minerals and
vitamins.

E. The major share of oilseeds and pulses production is come from irrigated areas.
Choose the correct answer from the options given below:

1.ABC
2BCD
3.CDE
4 ABD

Options :

21052950221. 1
21052950222. 2
21052950223. 3
21052950224, 4

Question Number : 6 Question Id : 21052912736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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9 areal &1 ug |

A. T GR&T &1 aad eidl & 1o W& U4 Gep1g foiaiil & 1awad od 9t arl @1 5 959
e T G o @ TS g |

B. YRd W & G- H HANR S |

C. YRd & $d aRaa® 4T3 Jad AABd T Quz fAfea 8ae B |

D. Hid TH Tad ifYe Uif® gid & i I 3=t A | 1idie, Bia-agv vd faerfa s
=

E. GaB-fade-l @1 SaIe- & iged YT Rifud &1 8 i 8|

i feu v faeeal & ¥ 981 IR &1 904 @ |

1.ABC
2BCD
3.CDE
4 ABD

Options :

21052950221. 1
21052950222. 2
21052950223. 3
21052950224. 4

Question Number : 7 Question Id : 21052912737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Weeds compete with crop plants for nutrients, moisture, light and space which
results in reduction in yield.

Statement Il: Weeds act as alternate hosts to pests and pathogens in off season which infect
the crop later and cause severe damage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :
21052950225. 1
21052950226. 2
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21052950227. 3
21052950228. 4

Question Number : 7 Question Id : 21052912737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dog ey Rt g

HYA - | : TYYGaR Bd & Yief & 91y GI® dd, 441, UHel, U4 H & fau ufgmyf sd &
9% gRUHEEY IdGHdl 3 BHI ATl ¢

HYF - || ; UAaR, [T R] ®is Td I Fd] & 08 aHIGH H Us f[ddpcd & ©U H H1H Bl
g il 91 H BYd & YehiHd R JH9H Ugdd o

Iudad Byl b Haie # [REfkifed fddel 3 9 981 IR g4 -

1. HYF | AR 11 GHT Fal Bl

2. ®YF | 3R 1| g1 Tad g

3. 5% 190 8, e Py 1 7T9d B |
4, Y| HGd g, foqg DY 11 TaT B

Options :

21052950225. 1
21052950226. 2
21052950227. 3
21052950228. 4

Question Number : 8 Question Id : 21052912738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Green manuring is a practice of ploughing or turning into the soil
undecomposed crop plants when they are at fully maturing stage.

Statement II: A leguminous crop producing 10-25 tonnes per hectare of green matter will
add about 60 to 90 kg nitrogen.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | Is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950229. 1
21052950230. 2
21052950231. 3
21052950232. 4

Question Number : 8 Question Id : 21052912738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&Y - | : fo1 93 Bad & Uiy 99 91 Yoieud uRuad 3wy § 81 dd 39@!1 Wd | Siga1 a1
Ucie @1 U Ufshan, 548 WG Bidl o

HYA - || : U Gaed BUG o 20 F 4 24 Ufd 89X 83 Uaid Idifad ®dl ol af &0 ¥ R0
facIraT Arseior gal | Sra|

Iuddd HYHl b HTdiie § FgfkiRad f[deedl d 8 981 S 94 -

1. HYF | 3R 1 AT T B
2. HYT | 3R 11 SFT Tad 2
3. 947 1948, fgdy 1 Tad B |

4, ®YF | A g, fheg SYF 11 T&T B

Options :

21052950229. 1
21052950230. 2
21052950231. 3
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21052950232. 4

Question Number : 9 Question Id : 21052912739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which micronutrient is most deficient in India soils?

1. lron

2. Zinc

3. Boron

4. Manganese

Options :

21052950233. 1
21052950234, 2
21052950235. 3
21052950236. 4

Question Number : 9 Question Id : 21052912739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YR 5a1 H fh g Yeauins da &1 HHl 9aldd o7

1. AT
2. Ol
3. R
4 T

Options :

21052950233. 1
21052950234. 2
21052950235. 3
21052950236. 4

Question Number : 10 Question Id : 21052912740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which is the most critical stage for irrigation view of point in pulses?

1. Germination

2. Branching

3. Pre flowering and pod development
4. Dough

Options :
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21052950237. 1
21052950238. 2
21052950239. 3
21052950240. 4

Question Number : 10 Question Id : 21052912740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gaedl | [ag & <P B0 3 B! G 98 Hifad sidl 62

1. HPHRU & GHY
2. TG §-d §HY

3. 50 Ud Ud Bferi &-d 999

4. ST GYT S HY

Options :

21052950237. 1
21052950238. 2
21052950239. 3
21052950240. 4

Question Number : 11 Question Id : 21052912741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List I

Crop Nutrients requirement (NPK)
A. Maize l. 60-50-30 kg/ha

B. Soybean 1. 120-60-40 kg/ha

C. Mustard 1. 80-40-40 kg/ha

D. Pearlmillet IV. 25-60-50 kg/ha

Choose the correct answer from the options given below:

TLA-ILB-IV,C-1I,D-1
2ZA-ILB-IV,C-1,D-1
S3A-ILB-IILC-1,D-IV
4 A-1LB-ILC-IV,D-|

Options :

21052950241. 1
21052950242, 2
21052950243. 3
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21052950244. 4

Question Number : 11 Question Id : 21052912741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I g1 -1 § gafed Pifer :

gl -| Il -1l

Had HTGRAD U ded (NPK)
A. FG@H] . 60-50-30 fHAIH / &.
B. ramE= II. 120-60-40 fParH / ©.
C. g IIl. 80-40-40 fHaRH /8.
D. S5 V. 25-60-50 faaH / ©.

1A=W,B-NC-IL1D-~3§
2ZA-ILB-IV,C-1,D-1l
S3A-ILB-ILC-1,D-IV
4 A-1LB-IILC-IV,D-1I

Options :

21052950241. 1
21052950242. 2
21052950243. 3
21052950244. 4

Question Number : 12 Question Id : 21052912742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il
Nutrient Function
A. Nitrogen l. It is an integral part of chlorophyll and imparts green colour to the plants.

B. Phosphorous|ll. Maintain osmotic and ionic regulation in plants.

C. Potassium  |lll. Energy transfer and protein metabolism.

D. Magnesium |IV. It is a structural component of ribosomes.

Choose the correct answer from the options given below:

TLA-LB-UI,C-1II,D-IV
ZA-1ILB-1,C-IV,D-1l
3.3A-ILB-IV,C-1,D-1I
4 A-ILB-LC-IV,D-I

Options :

21052950245. 1
21052950246. 2
21052950247. 3
21052950248. 4

Question Number : 12 Question Id : 21052912742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl -1 DI gl -1l § GHferd Biforg :

-] gl -1l

UN® dd (@ & a0l

GEGIE

A T . 98 UUigla &1 Ud 317 371 8 ol Nyl &I 831 311 UgH

B. BIEHRY II. GRIER0 U i fafas & s918 @1 |

C.URT |1 Sl YoRo1 Ud U= I9aa<y |

D. ATHREH|v. U8 & &1 te WRa9dd U@ ¢l

LA-LB-c=-1LD-¥
ZA-1LB-1,C-IV,D-1Il
3.3A-ILB-IV,C-1,D-1I
4 A-ILB-ILC-IV,D-I

Options :

e

~

—

collegedunia:

India’s largest Student Review Platform



21052950245. 1
21052950246. 2
21052950247. 3
21052950248. 4

Question Number : 13 Question Id : 21052912743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List 1l
Common Name Trade Name
A. Alachlor . Sofit

B. Paraquat Il. Algrip

C. Pretilachlor lll. Lasso

D. Metsulfuron IV. Gramoxone

Choose the correct answer from the options given below:

1LA-LB-ILC-1l,D-IV
2ZA-IV,B-IlLC-1I,D-|
3.3 A-ILB-IV,C-1I,D-|
4 A-1LB-IV,C-|,D-1I

Options :

21052950249. 1
21052950250. 2
21052950251. 3
21052950252. 4

Question Number : 13 Question Id : 21052912743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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-] gl -1l
IR AH AagIid® 94
A. TATaAR . Gifthe
B. IRT@Ie 11, SRy
C. UdiamaaiR 1. gt
D. HegaHIH Iv. TTEE

TA-LB-ILC-IIlLD-IV
ZA-INCB-.C-1LD -}
3. A-IILB-IV,C-1I,D-|
4 A-1ILB-IV,C-1,D-1I

Options :

21052950249. 1
21052950250. 2
21052950251. 3
21052950252. 4

Question Number : 14 Question Id : 21052912744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List 1l

A. Kufri Jawahar |l. Kufri Red X Kufri Kundan

B. Kufri Bahar  |Il. Kufri Jyoti X Kufri Alankar

C. Kufri Sindhuri |lll. Kufri Neelmani X Kufri Jyoti
D. Kufri Badshah|IV. Kufri Red X Ginake

Choose the correct answer from the options given below:

A= LS~ =y, D=1
ZA-ILB=N,C-}, D=1
3A-ILB-LC-1IV,D-1l
4 A-IV,B-1,C-1I,D-I

Options :
21052950253. 1
21052950254. 2
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21052950255. 3
21052950256. 4

Question Number : 14 Question Id : 21052912744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl -1 &l Gl -1 § gaferd Pifere :

-] T -1l
A. DB FaER . P IS X B P
B. P 48R I, BB Fifd X BRI AAPR
C. pH Rigd N1, BB AIGEA X DB i
D. Bl 9IGYI8 V. FHR I8 X o1
2 feu e fadedt H ¥ 9E IR 94U

TLA-NLB-I,C-IV,D-I
2A-lILB-IV,C-|,D-1
3.A-ILB-L,C-1V,D-1ll
4 A-IV,B-1I,C-1LD-I

Options :

21052950253. 1
21052950254. 2
21052950255. 3
21052950256. 4

Question Number : 15 Question Id : 21052912745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List I

A. Hisar Lalit |. Phompsis Blight resistant
B. Annamalal Il. Transgenic Variety

C. Florida Market|lll. Aphid Resistant

D. Flavr Savr IV. Nematode resistant

Choose the correct answer from the options given below:

T.A-IWV,B-1,C-Ill,D-1
2A-ILB-IV,C-1I,D-I
3A-IV,B-1L,C-], D=1
4 A-1,B-IV,C-1lIl,D-1

Options :

21052950257. 1
21052950258. 2
21052950259. 3
21052950260. 4

Question Number : 15 Question Id : 21052912745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

It -| Tl -l

A. TRHR dfaa . By i ufaid
B. 3T 11, Sitg sifrarfaRae! fs
C. FRaT Hifdie . TS wicRie

D. TRITaR TR . Al ufaRieh

Hd feu e fawcdl d 9 98 IR 9T

TLA-IV,B-I,C-1I,D-1l
2A-ILB-IV,C-1ll,D-|I
3A-IV,B-IIILC-1,D-1l
4 A-1,B-IV,C-1ll,D-1I

Options :

21052950257. 1
21052950258. 2
21052950259. 3
21052950260. 4
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Question Number : 16 Question Id : 21052912746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Pusa Snowball K-1 is tolerant to black rot disease.
Statement II: Cole wart (Cliff cabbage) is common ancestor of all the cole crops.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950261. 1
21052950262. 2
21052950263. 3
21052950264. 4

Question Number : 16 Question Id : 21052912746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIEEARAIE R ek g

HY - | : GHI Fiaid K-1 PIcl 9o I 4 e[ B |

HY - |1 : DIcare ([Faw M) g4t Miaria il S99 & |
I DYl B Haid | FHafkiRed fadbedl § 8§ 9el I 94 -

1. BYF | 3R 11 S Tt B

2. ®YF | 3R || G TTad g

3. %Y 190 8, fogdyT 1 Taa B |
4. DY A g, fog DY 11 T&T B

Options :

21052950261. 1
21052950262. 2
21052950263. 3
21052950264. 4
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Question Number : 17 Question Id : 21052912747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following is cause of blossom end rot in tomato?

1. Boron deficiency
2. Ca deficiency

3. High temperature
4. Zinc deficiency

Options :

21052950265. 1
21052950266. 2
21052950267. 3
21052950268. 4

Question Number : 17 Question Id : 21052912747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g d 3 ok & <1gH U3 U 3T HRU Al 87

1. AR D BHT
2, BfcTgH I AT

3. JHfe® dIgEHE
4, O& B DA

Options :

21052950265. 1
21052950266. 2
21052950267. 3
21052950268. 4

Question Number : 18 Question Id : 21052912748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read following statements:

A. Grape is deciduous crop.

B. In north India pruning time of grape vine is December- January.

C. In grapes winter pruning is known as foundation pruning.

D. Grapes do not ripe after harvesting.

E. Dogridge rootstock is better for acidic soils.

Choose the correct answer from the options given below having true statement:

1.A,Band D
2.A Band E
3.B,CandE
4 A BandC

Options :

21052950269. 1
21052950270. 2
21052950271. 3
21052950272. 4

Question Number : 18 Question Id : 21052912748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. IR Tofard gren &

B. TR HRd ¥ 3R B BeT3 dels &l 99y [Gumax- 99l &
C. 3R H &l ] dels Bels Bl BIoowH Y1 Hed &

D. 3R 813 & UHId el Udhd &

E. SHITS Hd da 3% Jal & o Sarel el &

< feu v fawcal & O U8t Syl ard fadey &1 999

1.A,BEID
2.ABUGE
3.B,CUdE
4 A BTEC

Options :

21052950269. 1
21052950270. 2
21052950271. 3
21052950272. 4
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Question Number : 19 Question Id : 21052912749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match products given in list | with concentration of preservative for preservation given in List ||

List | List 11
A. Tomato sauce I. 350 ppm

B. Dehydrated vegetables |Il. 2000 ppm

C. Tomato puree and paste|lll. 750 ppm

D. Fruit pulp IV. 250 ppm

Choose the correct answer from the options given below:

1LA-IL,LB-I,C-IV,D-1I
2A-1,B-,C-IV,D-1l
3A-IILB-L,C-ILD-V
4 A-LB-1ILC-IV,D-|

Options :

21052950273. 1
21052950274. 2
21052950275. 3
21052950276. 4

Question Number : 19 Question Id : 21052912749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol # QU 7Y Iare &1 e gt 1 | €1 713 URE & fag uiReis @ 56 $ifeid

gl -| gl -1l

A. THICR 99 . 350 QTLEHA.
B. [5h Geandl I1. 2000 G1.41.TH.
C. THIR [ U4 U . 750 G4 T,
D. el &1 T[al Iv. 250 gl gs.

TLA-N,B-I,C-IV,D-1
2Z2A-1,B-lILC-IV,D-1
3A-lILB-I,C-1,D-IV
4 A-NLB-ILC-IV,D-I

Options :

~
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21052950273. 1
21052950274. 2
21052950275. 3
21052950276. 4

Question Number : 20 Question Id : 21052912750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Read following statements:

A. Jam contains 68.5 per cent of soluble solids and boils at 222°F.

B. For packing of jam, it should be filled after cooling.

C. Excess acid is main cause of weeping jelly.

D. Thermometer test is only available technique to determine end point of jelly.
E. Pectin rich fruits are prerequisite for jelly making.

Choocse the correct answer from the options given below having true statement:

1.A Band D
2.A, CandE
3.B,CandE
4 A, DandE

Options :

21052950277. 1
21052950278. 2
21052950279. 3
21052950280. 4

Question Number : 20 Question Id : 21052912750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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FafiRad oyHl @i Uit

A. 51 H 68.5 Uida=rd Yo-Riic 319 Ud 222°F dI9HH IR 3410 & |

B. O1H @1 Ofdh1 & foTT 91 &1 331 814 & 18 HRT o1dl &

C. 3% B1 e JIUT Siell BT J=I1 PRU &

D. Sich # 3ifaw fag afeor & fou yHidier uRen te o5 Suas do-ia] o
E. Sich &9 & fofu Ufded gad Bd SH1a=9d o

Hd fau ¢ famcdl § 9 98! Syl d1d fdheg &1 98- B

1.A,BTWD
2.A,CUdE
3.B,CUdE
4 ADUJE

Options :

21052950277. 1
21052950278. 2
21052950279. 3
21052950280. 4

Question Number : 21 Question Id : 21052912751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read following statements:

A. Maximum number of plants can be accommodated in quincunx system of planting.

B. Square system is most popular system of planting.

C. Contour system is popular in plains.

D. In hexagonal system, 15 percent more plants can be accommodated as compare to square
system of planting.

E. In diagonal system number of plants is less than square system.

Choose the correct answer from the options given below having true statement:

1.A, Band D
2.A, Band E
3.A,Cand D
4 B, DandE

Options :

21052950281. 1
21052950282, 2
21052950283. 3
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21052950284. 4

Question Number : 21 Question Id : 21052912751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FafaRad Syl i Uit

A. GIY} T 31 Geap 19 UOTTelt H Gaiiye ure @l o §6d o

B. UTYl T1H @1 TR YUITcl gad Hi® aidid &

C. T gurell gt 31 & dideid &

D. H3HIUIG YUITE! H dPIihR WOITEH @1 g1 J 15 Wid=d WY 34fHd e o 9od &
E. SR WU H TR WoTel & ol 5§ &5 WY 8id &

+ feu e fascal 5 O Hel YAl aid [aded &1 994 B

1.A, BT D
2.A.BUGE
3.A.CTED
4B DUdE

Options :

21052950281. 1
21052950282. 2
21052950283. 3
21052950284. 4

Question Number : 22 Question Id : 21052912752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Heading back and thinning out are types of training.
Statement II: Dehorning is a type of pruning.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :
21052950285. 1
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21052950286. 2
21052950287. 3
21052950288. 4

Question Number : 22 Question Id : 21052912752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T py= Ry §

HYA - | : B 9 Ud AT 3132 T & UBR Bl

®YF - 1| : SIelT, BeTs Bels U | ISR ol

U HYA! b el H FafiRad fasedl # 9§81 S 9 -

1. ®YF | 3R 1| ST 98l &
2. YT | AR 1| GF1 TTad B
3.9y 1 908, g YT 1 TTad 8 |

4. ®YT | A g, fooeg SYF 11 T&T B

Options :

21052950285. 1
21052950286. 2
21052950287. 3
21052950288. 4

Question Number : 23 Question Id : 21052912753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Gladiolus can be propagated through seed.
Statement II: Multiplication of gladiolus through cormels is slowest method.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :
21052950289. 1
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21052950290. 2
21052950291. 3
21052950292. 4

Question Number : 23 Question Id : 21052912753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EIEEARIE ST

HYA - | ; ST DI UGRY §19 g1 ol 9hdl o

&Y - | : Tfediay § HRAG gRT UORY 994 i f&afy 8
Sudd Syl & e H Auffed faeedl § 4 98 3w g -

1. YT | AR 11 G Tal &

2. YT | 3R 11 G T B

3.9Y9 190 8, fPd Py 1 TTod § |
4 HY | {9 s, foqg DY 11T Bl

Options :

21052950289. 1
21052950290. 2
21052950291. 3
21052950292. 4

Question Number : 24 Question Id : 21052912754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sand garden and Tea garden are types of which among the following style of garden?

1. English garden
2. Japanese garden
3. Mughal garden
4. French garden

Options :

21052950293. 1
21052950294, 2
21052950295. 3
21052950296. 4

Question Number : 24 Question Id : 21052912754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

dzmeqwd e ey ffa g aPa i d e d UeR & 2
1. SRR 9

2. STaHE1 1T

3. T &1
4 Thd &1

Options :

21052950293. 1
21052950294, 2
21052950295. 3
21052950296. 4

Question Number : 25 Question Id : 21052912755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List Il

List | List 1l
A. Tuber |l. Sweet Potato

B.Runners |ll. Turmeric

C. Rhizome|lll. Strawberry
D. Bulb IV. Garlic

Choose the correct answer from the options given below:

TLA-LB-U,LC-I,D-1WV
2A-1,B-NI,C-IV,D-1
3A-ILB=ILC=L, D=V
4 A-NIL,B-1LC-IV,D-|

Options :

21052950297. 1
21052950298. 2
21052950299. 3
21052950300. 4

Question Number : 25 Question Id : 21052912755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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-l -1l
A. TR |. AP DG
B. Y Il Beal
C. ISH . =Tad
D. §cd V. Tegd

1LA-1L,B-ILC-I,D-IV
2A-1,B-lLC-IV,D-1
3JA-IILB-ILC-1L,D-IV
4 A-1ILB-ILC-IV,D-1I

Options :

21052950297. 1
21052950298. 2
21052950299. 3
21052950300. 4

Question Number : 26 Question Id : 21052912756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What do you mean by white revolution?

1. Sharp rise in buffalo population
2. Sharp increase in milk production
3. Sharp rise in cattle population

4. Sharp increase in egg production

Options :

21052950301. 1
21052950302. 2
21052950303. 3
21052950304. 4

Question Number : 26 Question Id : 21052912756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g Hifd ° TUHT FT ATHY 87

1. 99 &1 9 dig Sgiadl
2. G 3dIeA H did dgladl
3. 7A@ TEAT H did ggla]]
4, UZ] IdIGA H did delasl

Options :

21052950301. 1
21052950302. 2
21052950303. 3
21052950304. 4

Question Number : 27 Question Id : 21052912757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Feeding grains to pregnant heifers prior calving at 1.5 kg/ day helps in their
growth, bear the stress of foetus.

Statement II: Pregnant heifers should be housed along with milking cows at least two months
prior to calving.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950305. 1
21052950306. 2
21052950307. 3
21052950308. 4

Question Number : 27 Question Id : 21052912757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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G A A E R AR

HY - | : 13- 9Tl &I 941 &4 9 Jd .4 fvaam ufd f69 & fewre ¥ g e | 3@t
§GdR U9 YUT & d-1d 3l ¥e | HeG Hadi ¢ |

B - || ; TG 91301 D] 91 o1  PH U DY  HIE Gd g & ardll Al & 91y ey §
Th Ay TG4 dlisU |

3dad DYl b HTeiie § Fgfiiad f[deedl § 8 98 S 94 -

1. Y| 3R 1 T Gel 2l
2. ®BYF | 3R || GFT Tad B
3.9YT 190 8, frg Py 1 a8 |

4. DY A g, fog HYH 11 T&T B

Options :

21052950305. 1
21052950306. 2
21052950307. 3
21052950308. 4

Question Number : 28 Question Id : 21052912758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Milk fever is a metabolic disease in cows soon after calving.

Reason R: Serum calcium levels fall in cows after calving as a result of failure to mobilize
calcium reserves.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :
21052950309. 1

~

—

collegedunia:

India’s largest Student Review Platform



21052950310. 2
21052950311. 3
21052950312. 4

Question Number : 28 Question Id : 21052912758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Faa sy RU TR : To &l HUHYF (A) 3R W B I (R) Tel T o
HHBYH (A) : G R Uh YA SHRI e Wl T H S 6 D R SIG H Bldl © |

dd (R) : 71 H 9] G4 & qid 91G GRH $icgad &1 T} R 9Id1 & U8 HeRd dicagd &
AR AgH @l dec daldi o |

SIuddd HYAl & Hdid | [gifed fdeadl 5 9 98l W A -

A) 3R (R) GFT T8I § 3R (R), (A) P! T8 SRS &
A) 3R (R) GHI Gal & U (R), (A) ®! Gel o4ReAT Tei 8
A) TE1 8 IR (R) We! 6 & |

A) TE1 781 8 W (R) Fel 6|

Options :

21052950309. 1

21052950310. 2

21052950311, 3
21052950312. 4

1.
2. (
3, (
4, (

Question Number : 29 Question 1d : 21052912759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Read the following statements

A. Artificial insemination increases semen use efficiency.

B. Artificial insemination increases potential of genetic selection.

C. Fertility in dairy cattle increases with increase in artificial insemination.

D. In artificial insemination, outstanding animals can be mated from distance locations.

E. Artificial insemination increases genetic diversity in cattle.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A B and D only

Options :

21052950313. 1
21052950314. 2
21052950315. 3
21052950316. 4

Question Number : 29 Question Id : 21052912759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. B THiYF 9 S SUGRT G4l B dgdl 6 |

B. BfAT THIUH HERI® 994 & 9 & gedl o

C. GYS Hagl H Yo A SRAH THIYFA S ded S Uiy §edl o |

D. BAH THIUH H - & I P RIS BT YT b1 51 GHhar g |
e, Bfaw iy 8 it § sridfYe fafqyar st 1

Hrd feu ¢ famcdl 5 9 98 Syl dd fddheg &1 98- B:

1.9ad A B3R C
2.%dd B, C3RD
3.9dd C, D3IRE
4, Hqd A, B3ARD

Options :
21052950313. 1
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21052950314. 2
21052950315. 3
21052950316. 4

Question Number : 30 Question Id : 21052912760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match list | (cattle breed) with List Il (home tract)

List | List 11
A. Dangi |l. Madhya Pradesh

B. Nimari [Il. Rajasthan

C. Ponwarllll. Gujarat

D. Rathi |IV. Uttar Pradesh
Choose the correct answer from the options given below:

CA=ILB=) =N, D=1
2ZA-NILB-IV,C-I|,D-1
3.3 A-ILB-1L,C-IV,D-1lI
4 A-IV,B-II,C-1ll,D-1

Options :

21052950317, 1
21052950318. 2
21052950319. 3
21052950320. 4

Question Number : 30 Question Id : 21052912760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

collegedunia:s

India’s largest Student Review Platform

~

T




-] -1l

A. St . A UG
B. A\t 11, TeTYH
C. Ul I, TR

D. 31 V. 3R UGl

TA=-ILB=-LC=1V, D=
2A-1ILB-IV,C-|,D-1
3A-ILB-LLC-1IV,D-1l
4 A-IV,B-I1I,C-1lI,D-1

Options :

21052950317. 1
21052950318. 2
21052950319. 3
21052950320. 4

Question Number : 31 Question Id : 21052912761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: In poultry, vas deferens is the tubes pursuing a wavy course from testes to the
cloaca.

Statement Il: In poultry, isthmus is part of male reproductive system.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950321. 1
21052950322. 2
21052950323. 3
21052950324. 4
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Question Number : 31 Question Id : 21052912761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIEEARATE Rk g

HY - | : PaPe H a4 [SHg AAPIE eidl & ol 4] DY P cley J FalSid a® o Sl g
HYF - || : HIPE H SYHT TR G oF BT I 2l o

Iudad HYAl b ol H FeRkiRad f[deedl d § 98 IR 94 -

1. YT | AR 11 G Tal &

2. YT | 3R 11 G T B

3.9Y9 190 8, fPd Py 1 TTod § |
4 HY | {9 s, foqg DY 11T Bl

Options :

21052950321. 1
21052950322, 2
21052950323. 3
21052950324. 4

Question Number : 32 Question Id : 21052912762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Artificial insemination was first accomplished in which country?

1. Britain

2. USA

3. Denmark
4, Russia

Options :

21052950325. 1
21052950326. 2
21052950327. 3
21052950328. 4

Question Number : 32 Question Id : 21052912762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HiAH Y duyd fea cu d fpar mar vt 2

4. %9

Options :

21052950325. 1
21052950326. 2
21052950327. 3
21052950328. 4

Question Number : 33 Question Id : 21052912763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read following statements:

A. In cows, per animal covered area of 80-100 square feet is required.

B. Open area requirement for young stock in cattle is 50-60 square feet.

C. Per animal manger length requirement for pregnant cow is 15-20 inches,

D. Cattle shed should be surrounded by a boundary wall of 5 feet height in three sides.
E. Loose housing system is most economical systems for cattle.

Choose the correct answer from the options given below having true statement:

1.B,Cand D
2.A BandE
3.B,.Dand E
4 A BandC

Options :

21052950329. 1
21052950330. 2
21052950331. 3
21052950332. 4

Question Number : 33 Question Id : 21052912763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FafiRad oyHl I Uit

A. T H Ufd 9HaR 80-100 & WiT BAGR &7 &1 axgsdl aidl &

B. T4 & §&s! & [T Ufd JMaER 50-60 § Bic Gd &7 DI AWl sl o
C. T TG & faT ufd SHaR o) @1 arEls 15-20 59 &1 3H1a=gddl eldl o
D. MY & 78 & ol fd &% 4 5 Bie 31 GlaR gH dfey

E. T UTeiH &1 ol HUITell 9ag & arTd dielt WoTal &

i e v faecal & © 981 SyHl arc fadey &1 994 a3;

1.B,CHR D
2.A B3RE
3.B,DIRE
4.A B3IRC

Options :

21052950329. 1
21052950330. 2
21052950331. 3
21052950332. 4

Question Number : 34 Question Id : 21052912764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Ghee is pure butter-fat obtained by melting butter and evaporating the surplus
moisture.

Statement II: The acidity of ghee is always zero,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950333. 1
21052950334, 2
21052950335. 3
21052950336. 4

~

—

collegedunia:

India’s largest Student Review Platform



Question Number : 34 Question Id : 21052912764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EIEEARLE AT

HYA - | : Yl g B [Tuad 3R Y 74 $i afd PP U Y HFGH-3491 6|
&Y - 1) : § DI I eH=M L4 Bl o

Iudad Byl b Heile H FaRkiRad fadedl | 9 §81 IR g -

1. ®YF | AR I GH 98l Bl

2. HYA | 3R |1 GFT TTad & |

3.9y 1 90 e, fg dYF 1 T B |
4, DY H T ', fbg Y 11 G981 B

Options :

21052950333. 1
21052950334, 2
21052950335. 3
21052950336. 4

Question Number : 35 Question Id : 21052912765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following wound does not heal?

1. Maggot wound

2. Ulcer

3. Infected wound

4, Contaminated wound

Options :

21052950337. 1
21052950338. 2
21052950339. 3
21052950340. 4

Question Number : 35 Question Id : 21052912765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fafafRed 5 9 &9 91 9 31® gl aldl 62

1. GI3H

2. A

3. UhiHd UId
4, QYd 919

Options :

21052950337. 1
21052950338. 2
21052950339. 3
21052950340. 4

Question Number : 36 Question Id : 21052912766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following statements:

A. Tharparkar cattle are native to South-West Sindh.

B. Tharparkar is good for bullocks but milk production of cow is less.

C. The Tharparkars are medium sized compact animals, with clean limbs and good feet.
D. The hump of Tharparkar is narrow and the dewlap and sheath are larger in size.
Choose the correct answer from the options given below

1. A and C only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052950341. 1
21052950342. 2
21052950343. 3
21052950344, 4

Question Number : 36 Question Id : 21052912766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

FafiRed dyAl ) faaR &t

A- YRUR®R Ha2 cfémr-ufas Gy & 9o Fai |

B- YRUR®DR aail & fo1T 3BT & Tifh 71 &1 G IAIG PH G |

C- YRURSR HLH HPR b DG TR o, [P T 37 R 3D W T |
D- YRUREHR P Has D0l g R HGAU AR AH HPRAIS B |

i feu e faseal 5 9 9el IR g

1. BT A 3R C
2. Had B HR C
3.PaACHR D
4, HATA AR D

Options :

21052950341. 1
21052950342, 2
21052950343. 3
21052950344, 4

Question Number : 37 Question Id : 21052912767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

(Type of Cheese) (Protein in %)
A. Cottage Cheese l.13-16

B. Cream Cheese Il. 29.0

C. Swiss Cheese 1. 21.7

D. Roquefort Cheese V. 23.2

Choose the correct answer from the options given below:

TLA-ILB-LC-IIILD-IV
2A-IV, B-1,LC-11,D-1I
3. A-IV,B-IILC-1,D-1l
4 A-IILB-I,C-1,D-IV

Options :

21052950345. 1
21052950346. 2
21052950347. 3
21052950348. 4

Question Number : 37 Question Id : 21052912767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl -1 DI Gl -1l 9 gHfed Sifoe

CEIE 1 -1l
(TR BT TPR) (% 7 U1
A Picd AR .13-16
B.%IH TAR II. 29.0
c. Rag gHR . 21.7
D. ADBIC GAR IV. 23.2

T.A-1l, B-1,C-1ll,D-1V

2 A-IV, B-I, C-1I, D-1ll
3.A-IV,B-1Il, C- |, D- 1l

4 A-1ILB-|,C-1l,LD-1IV

Options :

21052950345. 1
21052950346. 2
21052950347. 3
21052950348. 4

Question Number : 38 Question Id : 21052912768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Transfer of groups within a molecule is a reaction catalyzed by enzymes
transferases.

Statement Il: Transfer of functional groups is a reaction catalyzed by enzymes isomerases.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :
21052950349. 1
21052950350. 2
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21052950351. 3
21052950352. 4

Question Number : 38 Question Id : 21052912768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TRa sy e

PYUF - | : T AU D Hiak THE! DT YHIGR TaIgHI & RIHIRU §RT ISR Widihal gl
HU - || : DTS GH! BT WHIGRU TAEH HZUEEY gRI Iaiid wfafedl g
SUUad HYHI & 3MTciier H Fgfiad faweal 7 9 el I I -

1. YT | 3R 11 SHT F-T B

2. YT | 3R I T A &

3. 9% 190 e, T dyF 1 TTad B |
4, ®YT | T g, fooeg SYH 11 TST B

Options :

21052950349. 1
21052950350. 2
21052950351. 3
21052950352. 4

Question Number : 39 Question Id : 21052912769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 11

A. Vitamin B5|.. Folate

B. Vitamin B9 |ll. Pentothenic acid
C. Vitamin B1|lll. Thiamine

D. Vitamin B2|IV. Riboflavin

Choose the correct answer from the options given below:

TA-IV,B-IIl,C-I,D-1
2A-1LB-,C-IlIl,D-IV
FA=-LB-ILC=-,D=V
4 A-NLB-IV,C-II,D-|

Options :

21052950353. 1
21052950354. 2
21052950355. 3
21052950356. 4

Question Number : 39 Question Id : 21052912769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gt -1 &l g1 -1 § gaferd $iferg :

I | T -1l

A faafda 6t s . Bldie

g. faeif®m st o 1. derdfe TS
c. faerfaa =t 1 1. YT

D. faerfe ot 2 VAREEILSICES
AT feu e fawedl H € 98l IR gfAU:

1LA-IV,B-IILC-1,D-1I
2A-ILB-I,C-1LD-IV
3.A-1, B-Il, G-I, D-1IV
4 A-LB-IV,C-II,D-1I

Options :

~

T

collegedunia:

India’s largest Student Review Platform



21052950353. 1
21052950354. 2
21052950355. 3
21052950356. 4

Question Number : 40 Question Id : 21052912770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Constitutive enzyme is an enzyme which is produced at a constant rate whether
it is needed by the organism or not.

Statement Il: Inducible enzyme is an enzyme which is synthesized only when a specific
inducer is present.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950357. 1
21052950358. 2
21052950359. 3
21052950360. 4

Question Number : 40 Question Id : 21052912770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TRa s Rt

HYF - | ; Bifefded TogH Udh UHT US13H & i FRaR &% W 397 8idT & 9l 98 wiid gRI
TGgd gl AT 8l

Y - || : ST CoTSH U0 UH1 US4 §idl & W1 $hadl U arP SSTeR HING o |
Lot g

Suddd Yl & Hdie | FgfiRed fdeedl 4 3 98 SR T :

1. YT | 3R 1 ST T B

2. YT | AR 1 GHT Tad B |

3.9Y9 190 8, fbg Py 1 TTd B |
4. FYT | HTA T, g HYT 11 TS B

Options :

21052950357. 1
21052950358. 2
21052950359. 3
21052950360. 4

Question Number : 41 Question Id : 21052912771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The main characteristics of SARS coronavirus are-

1. Non-segmented negative-sense ssRNA enveloped capsid

2. Non-segmented positive-sense ssSRNA enveloped capsid

3. Non-segmented linear dsDNA nonenveloped capsid

4. Non-segmented linear dsDNA enveloped icosahedral capsid

Options :

21052950361. 1
21052950362. 2
21052950363. 3
21052950364. 4

Question Number : 41 Question Id : 21052912771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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O BRIFEEE & T TE0 8-

1. IR-WfSd THRIHD-HIGT ssRNA BT §U SIS

2. TR-Wf5d uifwifeg-U9 ssRNA fOTwTHT Sitas

3, IR-Wsd IRD dsDNA s iad dids

4, IR-YTHIS ISP dsDNA [HS TP RS His

Options :

21052950361. 1
21052950362. 2
21052950363. 3
21052950364. 4

Question Number : 42 Question Id : 21052912772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List 1l
A. Complementary gene action .9:3:4
B. Supplementary gene action .L9:6:1

C. Dominance modification of duplicate genes|lll. 9:7

D. Polymeric gene action V. 1135

Choose the correct answer from the options given below:

A=ILB=1, G-I, D=1
ZA-1L,8B-LC-ILD-V
A= L=l D=V
4 A-IV,B-lILC-I,D-1

Options :

21052950365. 1
21052950366. 2
21052950367. 3
21052950368. 4

Question Number : 42 Question Id : 21052912772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl -1 DI Gl -1 9 gHfed Sifoe

gl -1 gl -1l

A BiRGHe o fopar .9:3:4
B. gl o far 1.9:6: 1
C. i@ide il &1 U J2ney= i.o:7
D. UTHR S PRaATg Jv.11:5

TLA-ILB-1L,C-IV,D-Il
2A-1,B-IILC-1,D-IV
3A-1,B-ILC-U,D-WV
4 A-IV,B-IILC-1I,D -1

Options :

21052950365. 1
21052950366. 2
21052950367. 3
21052950368. 4

Question Number : 43 Question Id : 21052912773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider following statements:

A- Fructose and lactose are disaccharides.

B- Ribose and galactose are monosaccharides.

C- Cellulose and starch are polysaccharides.

D- Glucose and glycogen are monosaccharides.
Choose correct answer from the options given below

1. A, B and D only
2. B, C and D only
3. Cand D only
4. B and C only

Options :
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21052950369. 1
21052950370. 2
21052950371. 3
21052950372. 4

Question Number : 43 Question Id : 21052912773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fafafad syEl ) faar &%
A- Tpaeis 3R AaeiS SZUPIZS ¢ |
B- Vg4l 3R g ol AFAGUSS g

C-Sardl 3R T Ul gdiss gl

D- @IS AR TWRH S AAPIES g
d feu e fameal & Q 981 IR g

1. ®dd A B AR D

2. $aa B, CHR D

3. Hqd C R D

4, %dd B AR C

Options :

21052950369. 1
21052950370. 2
21052950371. 3
21052950372. 4

Question Number : 44 Question Id : 21052912774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Streptomyces coelicolor is an example of curved rod shaped prokaryotes.
Statement II: Stella humosa is an example of curved star shaped prokaryotes.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | Is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950373. 1
21052950374. 2
21052950375. 3
21052950376. 4

Question Number : 44 Question Id : 21052912774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hid < Py R T -
DY - | . BEHREY Bichidick GHIAGR S & DR & FIbRIICH Bl b 3Jae ¢

HYA - || ; 7 §HIG GHIAGR ¥R & HHR & Wb RGiey &1 Uh 3660 o
Iuddd HYHl & aie § Fafafed fdweal § 3 98l S -

1. $YF | 3R I AT Tt B
2. PYF | 3R I gHf Tad 8|
3. %Y 190, feqdya 11 Taa B |

4 YT H A g, fbg DY 11 G8T B

Options :

21052950373. 1
21052950374. 2
21052950375. 3
21052950376. 4

Question Number : 45 Question Id : 21052912775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Chromosome appears to be longitudinally divided into two identical pats each of
which is known as cromatid.

Reason R: Chromatid is the structural and functional unit of chromosomes,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950377. 1
21052950378. 2
21052950379. 3
21052950380. 4

Question Number : 45 Question Id : 21052912775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ta iy R g U oI AfHYT () IR T &I 9 (R) Tl T |

HfUHY (A) : HENEH e U 4 & 99H Teg J fayiford fGwn ¢ar g, o 4 ud®
HIAfeS & &Y H JH Il |

dd (R) : PHAcS HENEE 1 WIAHD IR PATED 3513 o
S HYHl & Hdld H Hdifed f[Adcdl H 4 gl ST g1 :

1. (A) 3R (R) SHT TS & 3R (R), (A) P T AT B

2. (A) 3R (R) GFI G&1 & U (R), (A) DI el oGr=AT ol o
3. (A) 9ol 8 %] (R) He! el & |

4, (A) 98! 781 8 U= (R) el g |

Options :

21052950377. 1
21052950378. 2
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21052950379. 3
21052950380. 4

Question Number : 46 Question Id : 21052912776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: During translation process, the initiator tRNA is used only for translation
Initiation.

Reason R: The role of tRNA during translation is to bring N-formylmethionine to the initiation
codon in prokaryotes and eukaryotic organelles and methionine in case of eukaryotes.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950381. 1
21052950382. 2
21052950383. 3
21052950384. 4

Question Number : 46 Question Id : 21052912776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T sy RU TR : To &l HfiHY (A) IR G B db (R) Tel T ol

HYHYA (A) : HATG URHTT & G, Goid tRNA BT JUAIT Had HaIG GI&T & [od [l Sirdl
gl

dd (R) : 3HAIG P SR tRNA D1 HHST UisRaeT 3R ghiaifc® ii-a AR agH= H
THIAeY & AWd § T-BHsaRiysifT o dial sis- § aF @1 8

Iuddd HYHI & il H [Hgifdd [dhedl H € gl I I -

1. (A) 3R (R) GHFI Tal & AR (R), (A) P! U&! AT 8

2. (A) 3R (R) GFT U8l & U (R), (A) DI el g1 sl ol
3. (A) W1 8 O (R) el e &

4, (A) Hel 981 8 U3 (R) 9ol & |

Options :

21052950381. 1
21052950382. 2
21052950383. 3
21052950384. 4

Question Number : 47 Question Id : 21052912777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider following statements:

A- Mitochondria do not result from endosymbionts.

B- The cell wall consists mainly of carbohydrates and proteins.

C- Functionally intact cell organelles can be isolated from plant cells.

D- The endoplasmic reticulum and golgi apparatus form a network for the distribution of
biosynthesis products.

Choose correct answer from the options given below

1. A, B and D only
2. C and D only
3. B, Cand D only
4. B and C only

~

—

collegedunia:

India’s largest Student Review Platform



Options :

21052950385. 1
21052950386. 2
21052950387. 3
21052950388. 4

Question Number : 47 Question Id : 21052912777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFafeRad HyHl )R TR &3

A FIESIDITSTI 1 URUIH TSIy T8l alar 8

B. DIAPI DI SR H FA Y Y dlalglzse AR UIKH Bid o

C. FIHD U U RPIR Ud 3HT-4a oI Urel & SIfAD1af I e foar o abdi g |

D. 3f=d: UGogdl Sfcid! 3R M SUHU JAqu<ciyyl Idia] & [davul & fol U Sid-d4 €491 g |
Hd feu e fadeal § 9 98l SR g+

1.%dd A, B3R D
2. ®ad CARD
3.%dd B, C3RD
4, %ad B3R C

Options :

21052950385. 1
21052950386. 2
21052950387. 3
21052950388. 4

Question Number : 48 Question Id : 21052912778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A line representing points of equal time-distance from a point, such as the transportation time
from a particular point is known as-

1. Isobar

2. Isotherm

3. Isochrone
4, |socheim

Options :
21052950389. 1
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21052950390. 2
21052950391. 3
21052950392. 4

Question Number : 48 Question Id : 21052912778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frdt fidg O oo 9g-gdt & fagsi o g2iiA arel Y, o et faviy fag @ uasd &1 99y,
ST STl 8-

1. HAIER
2. HOgIyH
3, AHTIIHH
4, ATOGEH

Options :

21052950389. 1
21052950390. 2
21052950391. 3
21052950392. 4

Question Number : 49 Question Id : 21052912779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following statements:

A. Development of character is controlled by a gene.

B. Each gene exists in two alternate forms called alleles, which governs the contrasting forms
of a character.

C. Alleles of a gene cannot separate into different gametes of the hybrid.

D. Each somatic cell has only one copy of a gene, while gametes have two copies.

Choose the correct answer from the option given below:

1. A and B only
2. C and D only
3. A and C only
4. B and D only

Options :
21052950393. 1
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21052950394. 2
21052950395. 3
21052950396. 4

Question Number : 49 Question Id : 21052912779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafafed YA R fGaR &%

A. IIF &1 f[db19 U SiiF gR1 Habid fhdr Sirdl 8|

B. D oI &I ddfed® &l H HING sidl & ford Taiied del oiidl 8, 9l TP 9% & faudid &l
& fAafd sar s

C. SiiF & Udiid gI3fes & fafya T & e 8l 8l Idbd ol

D. U@ Giifed 9 H ofiF @I »ad Ud Uld 8l &, 9aid THS @I ol Uiadl aidl g

Hid feu ¢ famey & § 981 SR I+

1. A 3R B ad
2. C 3R D dad
3. A 3R C Had
4.8 3R D Had

Options :

21052950393. 1
21052950394, 2
21052950395. 3
21052950396. 4

Question Number : 50 Question Id : 21052912780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Plastids have evolved from cyanobacteria.

Statement Il: Peroxisomes are the site of reactions in which non-toxic intermediates are
formed.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | Is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950397. 1
21052950398. 2
21052950399. 3
21052950400. 4

Question Number : 50 Question Id : 21052912780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 & HyH lRT MU & -

HY - | : GIRAEEIa 4 @ifes e fad gu gl

HY - 1 : WisEa ufafsaret o1 uge & o TR- f38a guadf a9d 8
Sudad YAl D HTee | FRFfRad fadcdl # 8§ ¥l I g4 -

1. DY | 3R 1| ST el B

2. BY | 3R |1 GFT Tad 8

3. %Y 190, fgdyF 11 Tad B |
4, DY A g, fog DY 11 TRT B

Options :

21052950397. 1
21052950398. 2
21052950399. 3
21052950400. 4
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Part 11 Biology 8

Section Id : 210529179
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529430
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 21052912781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following types of plastid does not contain stored nutrients?

1. Elaioplasts

2. Amyloplasts
3. Chromoplasts
4, Aleuroplasts

Options :

21052950401. 1
21052950402. 2
21052950403. 3
21052950404. 4

Question Number : 51 Question Id : 21052912781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FE 49 @ 4 ad® § UlYe dd 9d1 8l aid ?

1. UferaraERe
2, FHTAEARES
3, IR

4, TERIERE
Options :
21052950401. 1

21052950402. 2
21052950403. 3
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21052950404. 4

Question Number : 52 Question Id : 21052912782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E. coli growing in a medium containing radioactive thymidine was allowed to grow in normal
medium (without radioactive thymidine) for two generations. What percentage of bacteria will
have radioactive DNA strand?

1. 100%
2. 50%
3. 25%
4, 12.5%

Options :

21052950405. 1
21052950406. 2
21052950407. 3
21052950408. 4

Question Number : 52 Question Id : 21052912782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Faions < tifedl & 3¢ & fou Segufdeg ysHieH s & 99mgq: (991 33 ufaea
yrsHIa) # gidl o1 fdba- ufawa dacian 5 e ufded SuH.u € s

1. 100%
2. 50%
3. 25%
4. 12.5%

Options :

21052950405. 1
21052950406. 2
21052950407. 3
21052950408. 4

Question Number : 53 Question Id : 21052912783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Asexual spores are generally NOT found in

1. Ascomycetes
2. Basidiomycetes
3. Zygomycetes
4, Deuteromycetes

Options :

21052950409. 1
21052950410. 2
21052950411. 3
21052950412. 4

Question Number : 53 Question Id : 21052912783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3 WR Ug: A9 H 76l U Sk & 7

1. 9% Bhg

2. SIGfeal g
3. I %G

4. U BRG
Options :
21052950409. 1
21052950410. 2

21052950411. 3
21052950412. 4

Question Number : 54 Question Id : 21052912784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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India’s largest Student Review Platform
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Match List | with List Il

List | List 1l

A. Schleiden and Schwann|l. Chromatin

B. Rudolf Virchow Il. Nucleus

C. Flemming 1. Cell theory

D. Robert Brown IV. Omnis cellula-e cellula

Choose the correct answer from the options given below:

LA=IILB=N L=, D=1
2A-1Il,B-1,C-IV,D-1l
A= IILB=V, C=1l, D=
4 A-1LB-LC-IV,D-I

Options :

21052950413. 1
21052950414. 2
21052950415. 3
21052950416. 4

Question Number : 54 Question Id : 21052912784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl -1 D1 gl -1l § GHferd Bifoig :

gl -| -1l

TS S 3R yH . BIEEE

q. T faxal I Hmd

. G 111, DIRIDT S

5. Jae g3 . STEAT T - 3 - Iqa
- feu e fameal 5 ¥ 98l S gHu

1.H-U,d-1V, 8-1, -1l
2-1l,9d-1,9-1V,q-Il
3.H-L,9-1V,H-1I, G-
4. 4-1,9-1,9-1V, G-

Options :

21052950413. 1
21052950414. 2
21052950415. 3
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21052950416. 4

Question Number : 5§ Question Id : 21052912785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following has least similar characters?

1. Family
2. Genus
3. Class
4. Species

Options :

21052950417. 1
21052950418. 2
21052950419. 3
21052950420. 4

Question Number : 55 Question Id : 21052912785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gAY A9 te 99 IR & B2

1. URER
2. 99
3. g7
4. J1fd

Options :

21052950417. 1
21052950418. 2
21052950419. 3
21052950420. 4

Question Number : 56 Question Id : 21052912786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Red tide is caused by

1. Gonyaulax
2. Ceratium
3. Euglena

4, Navicula

Options :

L ]
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21052950421. 1
21052950422, 2
21052950423. 3
21052950424. 4

Question Number : 56 Question Id : 21052912786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ad SaR Bldl & ;

1. SAGAF
2. Ry

3. oAl
4, dlgpa

Options :

21052950421. 1
21052950422. 2
21052950423. 3
21052950424. 4

Question Number : 57 Question Id : 21052912787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with respect to ecological pyramids?

A.The base of each pyramid represents the producers or the first trophic level while the apex
represents tertiary or top-level consumer,

B.The pyramid of energy is always upright.

C.A given species can occupy only one trophic level in the same ecosystem at the same time
D.The pyramid of number in tree ecosystem is upright.

E.Saprophytes are not given any place in ecological pyramids

Choose the correct answer from the options given below:

1. A B, COnly
2.A C D, EOnly
3. B, D Only

4. A, B, EOnly

Options :
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21052950425. 1
21052950426. 2
21052950427. 3
21052950428. 4

Question Number : 57 Question Id : 21052912787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 4 9 @ 9 oy UIRRGe] IRIAs & eH H 98l 8 -

3. ¥ TIRIHE &1 3R <31iaT & i Sg®! a1 YuH Uifpdhal TR Jaid Y U= 9l 41 3
SUHIE

q. $oll ®I (ORITHS BH SN BT AR Bl 8

. T ifd daa oRIURI@T 3 & Had 1@ Uived «R W U@ & 9950 § gl 8
<. Us uifRifaet a7 & de fiRifis S 31 iR el s

7. gikfRufad o & WRiGEe & 15 W T8 &

f&u 71U fadeal H ¥ el IR A -

1. Had A, U g
2. Had A, § G aud
3. HAA S AUl G

4. HIAH, §AU Y

Options :

21052950425. 1
21052950426. 2
21052950427. 3
21052950428. 4

Question Number : 58 Question Id : 21052912788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
First clinical gene therapy was given in 1990 to a 4-year old girl child for treating

1. Insulin dependent diabetes

2. Phenylketonuria

3. Cystic fibrosis

4. Adenosine deaminase deficiency

Options :
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21052950429. 1
21052950430. 2
21052950431. 3
21052950432. 4

Question Number : 58 Question Id : 21052912788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1990 H Ugdll 9R 99 i th IR I &1 91 &1 IUAR a1 71

1. 3gfeH 31TRd HYHE

2. ftprg et el g

3. s BrRagg

4, UTSHITE SITHHS & HAl

Options :

21052950429. 1
21052950430. 2
21052950431. 3
21052950432. 4

Question Number : 59 Question Id : 21052912789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plant bends towards the source of light when exposed to light on only one side. Which of
the following is the best explanation of the phenomenon?

1. They need light for photosynthesis

2. The apices of their stems are attracted by light

3. Some auxin accumulates on the shaded side to induce greater cell elongation on that side
4. Light stimulates the cells on the illuminated side to increase in length

Options :

21052950433. 1
21052950434. 2
21052950435. 3
21052950436. 4

Question Number : 59 Question Id : 21052912789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o/d U Q11 U= &1 R J3dl 8| % H 8§ & - H oure &y & it 9ad 3ugad |

1. 38 VTR USSYUT & o710 YT S HTaadhal sidl o

2. T 1 O BR UST B AR BT gidl o

3. BB 1A 3P 8ldl & ol BB Sglas! Pl g5l o
4, 579 908 W USHT USdl & 98l Bl DINDIY I510 Bidl ol

Options :

21052950433. 1
21052950434. 2
21052950435. 3
21052950436. 4

Question Number : 60 Question Id : 21052912790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Blood vessel carrying blood away from glomerulus in a mammalian nephron is called

1. Renal artery

2. Efferent arteriole
3. Afferent arteriole
4, Vasa recta

Options :

21052950437. 1
21052950438. 2
21052950439. 3
21052950440. 4

Question Number : 60 Question Id : 21052912790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WAYRT A B TEead § Yad Afdarsi d1 @9 o §H aral

1. 390 4541
2. H{Uugrel YH-1

3. JHfHaE! 4
4, g1 &<l

Options :

21052950437. 1
21052950438. 2
21052950439. 3
21052950440. 4
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Question Number : 61 Question Id : 21052912791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The bark of a girdled tree (upto phloem) may become swollen after a few weeks because

1. Water will not move upwards

2. Water will not move downwards

3. Sugars and other organic materials will not move downwards
4. Sugars and other organic materials will not move upwards

Options :

21052950441. 1
21052950442. 2
21052950443. 3
21052950444 4

Question Number : 61 Question Id : 21052912791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S DT U P D14 (WITH dd) S I@e & 616 B idl 6, D

1. UH FWR I AR Tl sedl o

2, Ut Hid @1 3R 7ol 9idl 6|

3, 91 9UT 3 BIaH® gard 9id di AR el 9id o
4, 9141 qUT 3= PlaHD Jard SW DI AR Fal 9¢dl o

Options :

21052950441. 1
21052950442. 2
21052950443. 3
21052950444. 4

Question Number : 62 Question Id : 21052912792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 1l
A.Clavicle |l Pelvic girdle

B.Femur [ll. Knee cap
C.Ischium |[ll.Thigh bone
D.Patella |IV. Pectoral girdle

Choose the correct answer from the options given below:

1. A-IV, B-lll, C-1, D-1I
2. A-IV, B-|, C-lil, D-1I
3. A-ll, B-l, C-IV, D-lli
4. A-lll, B-1V, C-1, D-lI

Options :

21052950445. 1
21052950446. 2
21052950447. 3
21052950448. 4

Question Number : 62 Question Id : 21052912792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

gl -| i -1

3. gl . Ofcas afsa
CRIALN I1. g2 31 <l
9. 3fags 1. 5T BT 83
. gredl v. UdeRa afsa

1.H-Vd-1IL"-1, q-1l
2H-IV,d-, 8-, g-1l
3H-ILF-L,"9-1V, Q- 1l
4. -, 9-Iv,H3-1, G-

Options :

21052950445. 1
21052950446. 2
21052950447. 3
21052950448. 4
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Question Number : 63 Question Id : 21052912793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The spread of living pteridophytes is limited and restricted to narrow geographical regions

because

1. Gametophytes are dependent on sporophytes

2. Sporophytes require cool, damp place to produce gametes
3. Gametophytes require cool, damp and shady places to grow.
4. They do not need water for fertilisation

Options :

21052950449. 1
21052950450. 2
21052950451. 3
21052950452 4

Question Number : 63 Question Id : 21052912793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Siifad cRSBIZed &1 TP §gd ol Gitd YYFT &7 F o aidl o, Fife

1. MBI cY WRIGIECH & $HUL AT B

2. WRIBTEeY & T UG & & U 337 3R T3
3, AP ed & 331, 79 3R BHGR e g6+ & [ag
4, F8EA & foU 3% Ul &f Siaxgddr 8l 9ifsu
Options :

21052950449. |

21052950450. 2

21052950451. 3
21052950452. 4

Question Number : 64 Question Id : 21052912794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct regarding the structure of contractile proteins?
A. Myosin is a thick filament which is also a polymerized protein

B. The globular head of meromyosin is called the light meromyosin (LMM)

C. Actin is a thin filament and is made up of two F- actins

D. The complex protein, tropomyosin is distributed at regular intervals on the troponin

E. Two filaments of troponin run close to F actins

Choose the correct answer from the options given below:

1. A, B Only
2. A D, EOnly
3. A, COnly
4. B, C, D Only

Options :

21052950453. 1
21052950454. 2
21052950455. 3
21052950456. 4

Question Number : 64 Question Id : 21052912794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g A3 o9 - Yoy Rips guudH » Gl H Odl &

3. AISUIRH U HIST M 8 ol UiciFRgss HidH Hi 8|

4. HEUYEH $1 MeeR 71§ gwb] IRMEANH (T4 T4 TH) deald o
9. Ufde U Tdam 3= & i & - U Ufde & &1 5 g

. BioA UIdH, TUHIGR- U@ TR add & 816 2gi-- M1l g |

7. 219 & & fhaiic Uh - Yde i S ey Ieid B,
faeedl # 9 91 IR 9 -

1. 3 9YT & had
2. ¥, G aur g &ad
3. HdYT g daa
4.9, QAU haqd

Options :

21052950453. 1
21052950454. 2
21052950455. 3
21052950456. 4

Question Number : 65 Question Id : 21052912795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following spermatogenetic stages in a human male

A. Spermatids

B. Spermatocytes

C. Spermatogonia

D. Spermatozoa

Choose the correct sequence of spermatogenetic stages in a mature human testis

1.ACBD
2.CBAD
3.D,CBA
4. CBDA

Options :
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21052950457. 1
21052950458. 2
21052950459. 3
21052950460. 4

Question Number : 65 Question Id : 21052912795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R guUl & BT S D1 Ulchal DI Gl HH H o :

3, TRACS

4. ERACYRRY

. TR

. ERHCTSS

U URUS HHd guul H B0 TR0N &1 Gal H gfHU ;

1.4,949
299 3, g
3.G, 4,49, 3
49 9 ¢ 3

Options :

21052950457. 1
21052950458. 2
21052950459. 3
21052950460. 4

Question Number : 66 Question Id : 21052912796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Radial symmetry is found in

1. Sponges, Coelenterates, Ctenophores

2. Annelids, Porifera, Platyhelminthes

3. Coelenterates, Ctenophores, Echinoderms

4. Coelenterates, Ctenophores, Platyhelminthes

Options :

21052950461. 1
21052950462. 2
21052950463. 3
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21052950464. 4

Question Number : 66 Question Id : 21052912796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fega guEudI o 9rdl &

1. T, fye=<e, FeeRy

2, TS, URIhT, WidleedTg
4, faa=e, Ry, T

Options :

21052950461. 1
21052950462. 2
21052950463. 3
21052950464. 4

Question Number : 67 Question Id : 21052912797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What will happen if the secretion of peptic or chief cells of gastric glands is blocked with an
inhibitor?

1. Gastric juice will be deficient in chymotrypsin

2. Gastric juice will be deficient in pepsinogen

3. Gastric juice will be deficient in mucus and bicarbonates

4. In the absence of HCl secretion, inactive pepsinogen is not converted into active enzyme
pepsin

Options :

21052950465. 1
21052950466. 2
21052950467. 3
21052950468. 4

Question Number : 67 Question 1d : 21052912797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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&1 BRI AfG IRe® 41 @I Seieie g1 Hae ®X 64l oY ;

1. PIOHEEEA H AfeH 08 BH e

2. TafiHiom & HfE® oF &9 e

3. @3 - DIHC U4 oy H I ® o &H sl

4, HCl & T1d @1 HH1 & HRUI HA%py GdiHieH & fharsita ot J 981 dgaq

Options :

21052950465. 1
21052950466. 2
21052950467. 3
21052950468. 4

Question Number : 68 Question Id : 21052912798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Triple fusion in angiosperms is the fusion of second sperm with

1. Antipodal cell and one synergid cell
2. Two antipodal cells

3. Two synergid cells

4. Two polar nuclei

Options :

21052950469. 1
21052950470. 2
21052950471. 3
21052950472. 4

Question Number : 68 Question Id : 21052912798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

feus wgeH Ul sigusiel urel H gER W4 & 91y fHeH

1. @WEUISd DIRIB] T4 U HIgARI0S DI
2. T Gdiuisd il

3. T GRS DI

4. G UIeR D!

Options :

21052950469. 1

21052950470 2

21052950471. 3
21052950472. 4

~

T

collegedunia:

India’s largest Student Review Platform



Question Number : 69 Question Id : 21052912799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Hatch and Slack pathway, carboxylation of RuBP and decarboxylation of Cs acid occurs in

1. Mesophyll cell and bundle sheath cells, respectively
2. Bundle sheath cells and mesophyll cells, respectively
3. Both in mesophyll cells

4, Both in bundle sheath cells

Options :

21052950473. 1
21052950474. 2
21052950475. 3
21052950476. 4

Question Number : 69 Question Id : 21052912799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6d Ud Tid UIYd H RuBP BT BIEIGIIIRH 3R C, BT FSHIalaRI=H Bidl 6 :

1. UUIHEd® gl ssd JH SIS § HH:

2. §5d W SIRIGT AR guiHeas SIS 3 Ha:
3. QUiHEIa® DIRAD! J gl &

4, G 8 ssaH BIRIDT H

Options :

21052950473. 1
21052950474. 2
21052950475. 3
21052950476. 4

Question Number : 70 Question Id : 21052912800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Down's syndrome is a genetic disorder due to the presence of an additional copy
of the chromosome number 21 (trisomy of 21).

Statement II: The affected individual is short statured with small round head, is sterile and
expresses Gynaecomastia,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | Is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052950477. 1
21052950478. 2
21052950479. 3
21052950480. 4

Question Number : 70 Question Id : 21052912800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIEEALAIE Rk

HYA - | URF YA 21 H U Hfdivad S1dl s+ ¥ 3134 RigH Ua H{dalRe I 3|
HYA - || : MAB MR I 3fd Afdd H BIel dg AR Biel 1d RR JuT T4gadl sidl g
94 HYH| & HTaid | FERiRed fadedl # 8 el IR 9 -

1. ®YF | 3R | T 9 B

2. ®YF | 3R || GET AEA B

3. YT | ¥ &, fo] HUF 11 3T
4, Y| T ©, [P HYF 11 I B

Options :

21052950477. 1
21052950478. 2
21052950479. 3
21052950480. 4

Question Number : 71 Question Id : 21052912801 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il

A. Bicuspid (mitral) valve |. Between right atrium and right ventricle
B.Aortic semilunar valve |l. Between left atrium and left ventricle

C. Tricuspid valve lll. Between right ventricle and pulmonary artery
D. Pulmonary semilunar valve|lV.Between left ventricle and aorta

Choose the correct answer from the options given below:

1. A-ll, B-1V, C-lll, D-I
2. A-ll, B-1V, C-1, D-lll
3. A-lll, B-I, C-ll, D-IV
4. A-ll, B-lll, C-IV, D-|

Options :

21052950481. 1
21052950482. 2
21052950483. 3
21052950484. 4

Question Number : 71 Question Id : 21052912801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gl -1 DI Gl -1l G gHfed $ifog :

Il -| g -1
3. SRPIRUS () ared |1 Q¢ 3ifiE 3R 1 Raa & A
4§, 3RfeH FHIGR dlca 11 1Y 3ffei SR g FAag & 7Y

Y. TRHRYS alcd 111, &1 e 3R wHR Y9 & 599
5. WA R dred \v. 97U AT 3R 3maie] & 7349

1.H-ILd-IV,H-1Il, G-
2H-ILd-IV,'-1,&-1l
3H-IL,E-1L"-1l, G-IV
4. 34-11,9-1,9-1V, G-

Options :
21052950481. 1
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21052950482. 2
21052950483. 3
21052950484. 4

Question Number : 72 Question Id : 21052912802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The best breeding method used for animals that are below average in productivity is

1. Cross-breeding

2. Interspecific hybridization
3. OQut-crossing

4. Inbreeding

Options :

21052950485. 1
21052950486. 2
21052950487. 3
21052950488. 4

Question Number : 72 Question Id : 21052912802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HNGd Y B IdTGdHal & (o8 U= H I W fafd 8 -

1. UR US4
2. JHdfaftgd H3o
3. dipx} Yyl

4, HdRE® U=

Options :

21052950485. 1
21052950486. 2
21052950487. 3
21052950488. 4

Question Number : 73 Question Id : 21052912803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The phenomenon of ‘Industrial Melanism' demonstrates

1. Natural selection

2. Geographical isolation
3. Reproductive isolation
4, Lamarckism

Options :

21052950489. 1
21052950490. 2
21052950491. 3
21052950492. 4

Question Number : 73 Question Id : 21052912803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RIS A B UeH1 GRIdl 8 :

1. Wi idd 95+

2. YT eee
3. USlH- 3{cHTg
4, A1

Options :

21052950489. 1
21052950490. 2
21052950491. 3
21052950492. 4

Question Number : 74 Question Id : 21052912804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I: A population growing in a habitat with limited resources show logistic growth.

Statement lI: Any species growing under unlimited resource conditions can reach enormous
population densities in a short time,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052950493. 1
21052950494, 2
21052950495. 3
21052950496. 4

Question Number : 74 Question Id : 21052912804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EIEEAK IRk
HYF - | : TH NG H FHST Bl gl Gidd did § diichd [9erg J gidl g
DY - || : DI U Sifa EHG Wi 3 IuiTd J YR S99% 99d H $H9HT §eids) aidl o

Suddd HYAl & Hidie H Rafifed fasedl § 9 98 SR g4 :

1. ®YF | 3R || T G B

2. BYF | R 11 GFT T B

3. ®Y |1 9 &, foq Y9 11 T B
4, Y| I 7, g oy 1 9 B

Options :

21052950493. 1
21052950494, 2
21052950495. 3
21052950496. 4
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Question Number : 75 Question Id : 21052912805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A population in Hardy-Weinberg equilibrium consists of 300 sheeps, some black some white. If
the allele frequency for the recessive allele is 0.3, how many black sheep are there in the
population?

1. 210
2. 273
3. 90
4. 27

Options :

21052950497. 1
21052950498. 2
21052950499. 3
21052950500. 4

Question Number : 75 Question Id : 21052912805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“BTSI-Ta-at] Sqo" @1 o9l H 300 HS & forgH 98 9 30 ®Idl & AR Tdid Hddd]
i el & AU 0.2 © d 99 | diell U &1 43 fad-l 8 -

1. 210
2. 273
3. 90
4. 27

Options :

21052950497. 1
21052950498. 2
21052950499. 3
21052950500. 4

Question Number : 76 Question Id : 21052912806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement is/are incorrect regarding polysaccharides?
A. Inulin is a polymer of fructose

B. Both starch and glycogen are present as store house of energy in plant tissue
C. Glucose is a monomer of cellulose

D. Cellulose is a homopolymer while chitin is a heteropolymer

E. Starch does not contain complex helices and hence cannot hold 12

Choose the correct answer from the options given below:

1. A, B, C Only
2. B, D, E Only
3. B, EOnly

4. B, C, D Only

Options :

21052950501. 1
21052950502. 2
21052950503. 3
21052950504. 4

Question Number : 76 Question Id : 21052912806 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ui PRIZS & &R | dIH 9/ 4 HY- Hel 7ol 6 ?

¥, S haeis & 950 o

4. WY 3R TASPIo Sl 51 d P aig Uit & 30d H 8dl o
. i, qairsl d1 AR

. Yqaiiol U Uhey 950D o aid Plgic- UD ool Sgaid o
4. T H Sifed gfte el glaT foad 318 2 31 s el Fabell
fau U famedl # § wel fdded 9 -

1. 3, § 9YT 9 Had
2. €, G aYr g &ad
3. § YT g Had

4.9, gAYl g &ad

~
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Options :

21052950501. 1
21052950502. 2
21052950503. 3
21052950504. 4

Question Number : 77 Question Id : 21052912807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in plant breeding

A. Cross hybridisation among the selected parents

B. Selection and testing of superior recombinants

C. Collection of variability

D. Testing, release and commercialisation of new cultivars

E. Evaluation and selection of parents

Choose the correct sequence of steps involved in plant breeding

1. ACED,B
2.C,BAED
3. A,CB,D,E
4 CEABD

Options :

21052950505. 1
21052950506. 2
21052950507. 3
21052950508. 4

Question Number : 77 Question Id : 21052912807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Uiy Yo+ H ®eH M & -

3. UR Y01 H 99id gdal

4. 9914 3R gRE § gk §F: Yaieie

. URgdiiedr 1 498

g. URew, ReTR SR 7T TfeR BT AU B0

4. gdsil &1 Hedid U4 99

el H &I [ddcd U1y Us=- H UIHT SeH! &1 99 By ;

1. 4,949 ¢4d
249,69 349, ¢
3.9, 4, 4¢3
499 3,494,

Options :

21052950505. 1
21052950506. 2
21052950507. 3
21052950508. 4

Question Number : 78 Question Id : 21052912808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Class Aves |. Presence of air bladder

B.Class Chondrichthyes|ll.Circular and sucking mouth

C. Class Osteichthyes |lll. Air cavities in bones

D. Class Cyclostomata |IV.Absence of operculum

Choose the correct answer from the options given below:

1. A-IV, B-l, C-lI, D-lII
2. A-ll, B-1IV, C-1, D-llI
3. A-lll, B-1, C-IV, D-II
4. A-lll, B-1V, C-1, D-lI

Options :
21052950509. 1
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21052950510. 2
21052950511. 3
21052950512. 4

Question Number : 78 Question 1d : 21052912808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I Gl -1 § gaferd Pifer :

gl - gl -1l

3. 9 - uaft \. B9 TATRY &I BT
. 31 - BISEIYY 1. Tiefta g I arel g
g, & - gy 1. gfal 9 arg e
5. 91 - EadeEre] V. HRPSH DI AHHE

LH-IV,E-L,F-1I,&-
2 -IL,d-IV,F-1, -1
3.H-1L,Ed-1,"9-IV, G-Il
4. -1, d-1V,H-1, -l

Options :

21052950509. 1
21052950510. 2
21052950511. 3
21052950512. 4

Question Number : 79 Question Id : 21052912809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which part of the plant is best suited for making virus free plants during tissue culture
method?

1. Ovule

2. Embryo

3. Anther

4, Shoot meristem

Options :

21052950513. 1
21052950514. 2
21052950515. 3
21052950516. 4
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Question Number : 79 Question Id : 21052912809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fa® Gguq fafy & gief &1 fqu] Gad 991 & o 01d &1 14 91 47T 969 399404 6 ?

1. g

2, YUl

3. RATHIR
4, I AREH

Options :

21052950513. 1
21052950514. 2
21052950515. 3
21052950516. 4

Question Number : 80 Question Id : 21052912810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following phases of cell cycle

A.S

D.M
Choose the correct sequence of phases of cell cycle

1.CABD
2.D,BAC
3. ACBD
4 CADB

Options :

21052950517. 1
21052950518. 2
21052950519. 3
21052950520. 4

Question Number : 80 Question Id : 21052912810 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegedunlaa
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Correct Marks : 4 Wrong Marks : 1

DI Oh & 9 & [aug | :

3. Tq

9. 92

g. fl;

c.Uq

HIRID 9% & 941 TP DI Tl PHH T ;

1.9 34,49 ¢
2.¢,49 3 9
3., 9, Q
4 4 3, g, d

Options :

21052950517. 1
21052950518. 2
21052950519. 3
21052950520. 4

Question Number : 81 Question Id : 21052912811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
According to Central Pollution Control Board (CPCB), which particulate size in diameter (in
mm) of the air pollutants is responsible for greatest harm to human health?

1. 3.0 or less
2.4.0 or less
3. 2.5 or less
4, 3.5 or less

Options :

21052950521. 1
21052950522, 2
21052950523. 3
21052950524. 4

Question Number : 81 Question Id : 21052912811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Hs1g Ugyul AU €13 (CPCB) & 4R, a1 Ugua! & oy (i ) # frg &u1 @1 3eR 54
Wy & o ged Y JHaH & fod forEeR 82

1.3.0 71 398 H9
2. 40713949 B9
3. 2591394 &Y
4,351 399 F9

Options :

21052950521. 1
21052950522. 2
21052950523. 3
21052950524. 4

Question Number : 82 Question Id : 21052912812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is/are correct regarding red algae?
A. Asexual reproduction takes place by motile spores

B. Sexual reproduction may be isogamous, anisogamous or cogamous
C. Food is stored in the form of floridean starch

D. They are called red algae because of the predominance of the red pigment, r-phycoerythrin
in their body

E. They possess chlorophyll a and d
Choose the correct answer from the options given below:

1. A B, COnly

2. A, B, D, EOnly
3. B, E Only

4.C, D, EOnly

Options :

21052950525. 1
21052950526. 2
21052950527. 3
21052950528. 4

Question Number : 82 Question Id : 21052912812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

IS Qa1 & GaH H B - 9/ DY T8l g ?

3. 9aid fthRd TR & GRI AR 1P o sial 6|

4. AMSTFIHY, TSR 91 3H71HY di® 944 8l 9&ddl o

Y. TINISH €Id & ¥4 H HioH US3 8idl o

<. Tt AT H I T D1 AfEDal YT 3R - B Ry §H & SR Bidl ¢
g. 378 FARIbd a YT b BT 8

feu U famedl # € 9l SR 94 -

1. 3, § 9UT § Had
2. ¥, 9, ¢ aquI g dad
3. § YT g Had

4.9 G aY g »aq

Options :

21052950525. 1
21052950526. 2
21052950527. 3
21052950528. 4

Question Number : 83 Question Id : 21052912813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Pusa swarnim |l. Bacterial blight
B.Himgiri I.White rust

C. Pusa Komal lll. Tobacco mosaic virus
D. Pusa Sadabahar|lV.Leaf and stripe rust

Choose the correct answer from the options given below:

1. A-ll, B-11l, C-IV, D-|
2. A-ll, B-1V, C-1, D-lII
3. A-lll, B-|, C-ll, D-IV
4. A-1ll, B-ll, C-IV, D-I

Options :
21052950529. 1
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21052950530. 2
21052950531. 3
21052950532. 4

Question Number : 83 Question Id : 21052912813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - g -1 A GAR PR

T | g -1

3. g @ I. daRaT &1 ey

5. femfrd 1L, T g

Y. JH1 i 11, JETP Folds IRy

. 91 9aIeeR Iv. TRt SR et & Xgen

.H-10L,9-1,9-1V, G- |
2H-1l,d-IV, H-1, c-1ll
3. H-L,E-1L,9-1l, g- IV
4. 34-1,9d-1,F-1V, G-

Options :

21052950529. 1
21052950530. 2
21052950531. 3
21052950532. 4

Question Number : 84 Question Id : 21052912814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Bryophytes are also called amphibians of plant kingdom because they can live in
soil and are not dependent on water for sexual reproduction.

Statement Il: The main plant body of bryophytes is diploid and is called sporophyte.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is true

Options :

21052950533. 1
21052950534. 2
21052950535. 3
21052950536. 4

Question Number : 84 Question Id : 21052912814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tog eyt

HYF - | : FHGECY GHl § IYTR Bid & FIfe ™ U I/ & 3R Afe o & e ot )
i3 8l I8d B

&Y - 1| ; FATBECY &1 =7 U i3 giar & 34 WRIKGsey $ed ol
Suddd HYAl & Hidie H Rafifed fasedl § 9 98 SR g4 :

1. Y| 3R || T I B

2. BYA | 3R 11 GET AT 3

3. ®Y |1 9 &, foq Y9 11 T B
4, Y| I 7, g oy 1 9 B

Options :

21052950533. 1
21052950534. 2
21052950535. 3
21052950536. 4
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Question Number : 85 Question Id : 21052912815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are not correct regarding lysosomes?

A. The hydrolytic enzymes of lysosomes are active under alkaline pH

B. Lysosomes are membrane bound structures

C. Lysosomes are formed by the process of packaging in the endoplasmic reticulum
D. Lysosomes have numerous hydrolytic enzymes

Choose the correct answer from the options given below:

1. A Only

2. B, D Only
3. A, D Only
4. A, COnly

Options :

21052950537. 1
21052950538. 2
21052950539. 3
21052950540. 4

Question Number : 85 Question Id : 21052912815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AEaH P GCH A B - 91/ S HYT T8l 781 o :

3. AU & gIEgdic® TaaH Uedlad pH & T 8id 8

. TEYNH Ue f3icel gad §XEH1 6

Y. UUSWIoH® Yedad | dIgarad gt $1 Uil & G §-d o |
g ag9gY ¥ 9gd 9R giaidicd Uigd aid ol

feu e fadcdl # 9 uel fadey 94 -

1. Bad 3

2, § dYI § dad
3. 3 qYI G Had
4, 3 9YT g Haq

Options :
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21052950537. 1
21052950538. 2
21052950539. 3
21052950540. 4

Question Number : 86 Question Id : 21052912816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List 1l

A. Boron . Splitting of water during photosynthesis

B. Manganese |ll. Synthesis of auxin

C. Molybdenumllll. Component of nitrogenase

D. Zinc IV. Pollen germination

Choose the correct answer from the options given below:

1. A-IV, B-, C-lll, D-I
2. A-ll, B-1, C-lll, D-IV
3. A-ll, B-lll, C-I, D-IV
4. A-lll, B-ll, C-IV, D-I

Options :

21052950541. 1
21052950542. 2
21052950543. 3
21052950544. 4

Question Number : 86 Question Id : 21052912816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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-1 -1
3. aRH . BT 92aiuu § od faued
CR:UCIE] 11, ATfRg SRy
g, HifdfasaH 1. AZIY &1 3
. i@ V. AT 3TH H

1.H-IV,d-,F-,c-1l
2H-ILd-1L"9-1l, &~ 1V
3H-ILEg-N,9-1, G-IV
4 -1, d-1, -1V, -1

Options :

21052950541. 1
21052950542. 2
21052950543. 3
21052950544. 4

Question Number : 87 Question Id : 21052912817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Proteins encoded by genes crylAc and cryllAb control corn borer, that of crylAb
control the cotton bollworms

Statement Il: Bt toxin protein exist as inactive protoxins but once an insect ingest the inactive
toxin, it is converted into an
active form of toxin due to the alkaline pH of the gut

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement || is true

Options :

21052950545. 1
21052950546. 2
21052950547. 3
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21052950548. 4

Question Number : 87 Question Id : 21052912817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dogi ey fRumu g

@Y - | : 9 crylAc TYT cryllAb BRI G R1d UicH Ads 96 ®I 470 Bl & aul crylAb
HYIY S1dH (Bollworm) &1 fATH01 #3dl 8

®YH - 1| ; Bt a9 [fShg &0 § UieiRiA (Protoxin) U H Bidl & foq 9id 34 ®ic &I 3 H RUd
Y pH & daid fay H gikafdd 81 9iral 8|

IUdd Byl B e | FafRad fdwel § 9 981 ST :

1. @Y | AR 11 GFT 9 B

2. B | 3R 11 GFT T 3

3. PY 1§ &, fbg PUF 11 A B
4% 38, g e I TE R

Options :

21052950545. 1
21052950546. 2
21052950547. 3
21052950548. 4

Question Number : 88 Question Id : 21052912818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

~

T

collegedunia:s

India’s largest Student Review Platform



Which of the following statement(s) is/are correct regarding lysosomes?

A. Heroin is obtained from the latex of poppy plant

B. Cannabinoids effect cardiovascular system of human body

C. The drug obtained from Erythroxylem coca interferes with neurotransmitter dopamine
D. Cocaine commonly called crack is chemically diacetylmorphine

E. Heroin has a potent stimulating action on central nervous system

Choose the correct answer from the options given below:

1. A B, C E Only
2. B, D Only
3.A D, EOnly
4. A B, C Only

Options :

21052950549. 1
21052950550. 2
21052950551. 3
21052950552. 4

Question Number : 88 Question Id : 21052912818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AGHIEH @ 99 H U8 Y 96l & -

3, BRI5 Oidl Uief & oiead (3d d9) § s dl &

4. BAIfeI3SY HHd TRR & 864 UREERU 1 dlfe®! dF U WHId Siadl &

. TfITSgaH SidT § W S RITHHIER (neurotransmitter) SIYMIEH U WHIG STaidl &
G. Pl &I GH: IGAR® T4 &1 SISUHICISAaRb $d (crack) Ped &

7. gRIgH | dgd Afdell Ixisid gidl & Sl heid T YUl T UHId Sl &

fau U famedt # ¥ 68l fadey g -

1. PaaH 999
2. H3AE, G
3.PadH, G T
4, HIAH,§, 9
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Options :

21052950549. 1
21052950550. 2
21052950551. 3
21052950552. 4

Question Number : 89 Question Id : 21052912819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is required as inducer(s) for the expression of Lac operon?

1. Galactose

2. Lactose

3. Lactose and galactose
4, Glucose

Options :

21052950553. 1
21052950554. 2
21052950555. 3
21052950556. 4

Question Number : 89 Question Id : 21052912819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mg e MR A SR P FUH JUE eldl 6 ;

A
3 Tomen

3. daei| ayl Idae i
4, DY

Options :

21052950553. 1
21052950554. 2
21052950555. 3
21052950556. 4

Question Number : 90 Question Id : 21052912820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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Select the incorrect statement(s) about biodiversity

A. It increases from high to low latitudes

B. Increased biodiversity contributes to higher productivity

C. Within a region, species richness increases with increasing explored area.

D. Loss of biodiversity in a region leads to decreased variability in ecosystem processes

E. Tropical environments promote niche specialization and lead to decrease in biodiversity
Choose the correct answer from the options given below:

1. A, D only
2. B, C, D Only
3. B, Eonly
4. D, Eonly

Options :

21052950557. 1
21052950558. 2
21052950559. 3
21052950560. 4

Question Number : 90 Question Id : 21052912820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oia fafgyar & g H -

3. I8 I U +id B 3R §gdl o

4. 3= Wafafqyd 3= Gl ardl g

Y. @il 7T &7 & d9g4 IR Sfad U=al &7 3 9gdl ol o

&. Siafdfasdl & T/ BH B R TIRIRUfd®] o wehd H fafayar vedi 21

g, 29 (Tropical) TATaRUT 1% (Niche) fa=iugal g1l & o Batawy via fafaydr gedl &
fau e famedl # § w8l faded 4 -
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Options :

21052950557. 1
21052950558. 2
21052950559. 3
21052950560. 4

Question Number : 91 Question Id : 21052912821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Organic compounds that are tightly bound to enzyme protein is called
prosthetic group.

Statement lI: A complete catalytic active enzyme with its bound prosthetic group is called
apoenzyme.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052950561. 1
21052950562. 2
21052950563. 3
21052950564. 4

Question Number : 91 Question Id : 21052912821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Jacl oy feumu g
DY - | :mwif@ﬂﬁl@ﬁﬂﬁﬁ@@m%ﬁm(Prosthetic)ﬂ%ﬁﬁ%l

HYF - 1| : T QU Gfehd TISH S U UIRUE® (Prosthetic) GHE ¥ 9T 8idl & UUIUSIEH
(Apoenzyme)ﬁ%’ﬁ!ﬁ"l%l

Iuled Byl b Heiie H FERkiRad fadedl H 4 §81 IR g1 -

1. BYF | 3R 1| GHf TT B

2. FYA | AR 1| GHT AT B

3. ®YF | 9 B, T Y 11 3 B
4, Y| I B, g HYF 11 I B

Options :

21052950561. 1
21052950562. 2
21052950563. 3
21052950564. 4

Question Number : 92 Question Id : 21052912822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List 1l
A. Tyhoid l. Trichophyton
B. Filariasis I, Salmonella

C. Ringworms [lll. Entamoeba histolytica

D. Amoebiasis|lV. Wuchereria

Choose the correct answer from the options given below:

1. A-IV, B-l, C-lllI, D-1I
2. A-ll, B-1V, C-lll, D-I
3. A-ll, B-1IV, C-I, D-lII
4. A-ll, B-l, C-1V, D-llI

Options :

21052950565. 1
21052950566. 2
21052950567. 3
21052950568. 4
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Question Number : 92 Question Id : 21052912822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I g1 -1 § gaferd Piferg :

gl -| i -1l

3, 4Igils s I, dlsmll-hlsd-i (Trichophyton)
q. BI3aRead L. GIHAMN (Salmonella)
EW-(Ringwmms) 1. Wﬂ'ﬁﬁﬁ%@ﬁm

G. HHERig V. WﬁﬂT (Wuchereria)
= feu 7t famweal & ¥ Gl IR g

1.A-IVF-1,9-1l, -1
2 H-ILd-IV,E-1Il, G-
3.H-ILFg-IV,H-1, G-
4. A-1l,d-1, -1V, -1l

Options :

21052950565. 1
21052950566. 2
21052950567. 3
21052950568. 4

Question Number : 93 Question Id : 21052912823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a method for ex-situ conservation?

1. Botanical garden

2. Wildlife safari parks
3. National parks

4. Zoological parks

Options :

21052950569. 1
21052950570. 2
21052950571. 3
21052950572. 4

Question Number : 93 Question Id : 21052912823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g ™ W ot i A & 2

1. §%4fdY S9T (Botanical garden)
2. §goiid BRI (safari) Ul
3. P I

4, U0}t I

Options :

21052950569. 1
21052950570. 2
21052950571. 3
21052950572. 4

Question Number : 94 Question Id : 21052912824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in recombinant DNA technology
A. Downstream processing

B. Insertion of recombinant DNA into host cell

C. Isolation of genetic material

D. Obtaining the foreign gene product

E. Cutting of DNA at specific locations

Choose the correct sequence of steps

1.CABDE
2CEBDA
3.AEBDC
4.C,EDBA

Options :

21052950573. 1
21052950574. 2
21052950575. 3
21052950576. 4

Question Number : 94 Question Id : 21052912824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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DNA G9gi9H dd-1d & H9 4

3. §g1d @i fe=n

4. B DIRIPI § GYaiioid DNA &1 GH1aS
9. 3dRiP Ugrd &1 THA (Isolation)

<. 91841 SfiF IdIG DI UId HAT

. DNA &1 fa2y RIH | Bl

feu 7 famedl § 9 Tel fdeg 9T

1.9, 9.4 69
249,49 49 ¢ 3
334,949, ¢9°
449 49G4d 3

Options :

21052950573. 1
21052950574. 2
21052950575. 3
21052950576. 4

Question Number : 95 Question Id : 21052912825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The main criteria for Five Kingdom classification proposed by Whittaker are:

A. Thallus organization

B. Cell structure

C. Reproduction

D. Gram staining

E. Phylogenetic relationship

Choose the correct answer from the options given below:

1. A, B, D only
2. B, C, E only
3.A B, C Eonly
4. D, Eonly
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Options :

21052950577. 1
21052950578. 2
21052950579. 3
21052950580. 4

Question Number : 95 Question Id : 21052912825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fagcan Ry ufaaifed gig 9y T fieor & G YR & -

3, 4TF (Thallus) G

. DIDT YT

. T4

<. TeH T

g. dqaiig d9Y

fau ¢ famedl & 4 92 faded 9 -

1. HAAH, §, G

2. $da9, 9,7

3. P90 34,999
4, HIAG T

Options :

21052950577. 1
21052950578. 2
21052950579. 3
21052950580. 4

Question Number : 96 Question Id : 21052912826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main enzyme required for transcription?

1. DNA dependent DNA polymerase
2. DNA dependent RNA polymerase
3. RNA dependent RNA polymerase
4. RNA dependent DNA polymerase

Options :
21052950581. 1
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21052950582, 2
21052950583. 3
21052950584. 4

Question Number : 96 Question Id : 21052912826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ufafeiad (Transcription) H 5% TiigH UORT AT & :

1. DNA 3THTRd DNA UIiERY
2. DNA 31e1Rd RNA TTATERY
3. RNA 3TTRd RNA T
4, RNA 3TeTRd DNA TTairERd

Options :

21052950581. 1
21052950582. 2
21052950583. 3
21052950584. 4

Question Number : 97 Question Id : 21052912827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Endosperm is completely consumed by the developing embryo in all except:

1. Pea

2. Groundnut
3. Bean

4, Castor

Options :

21052950585. 1
21052950586. 2
21052950587. 3
21052950588. 4

Question Number : 97 Question Id : 21052912827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



9Gd U YUT GRT YUIDIY BT AR fhdl Sl B ;

1. 7R

2. HITpdl
3. 39

4, 331

Options :

21052950585. 1
21052950586. 2
21052950587. 3
21052950588. 4

Question Number : 98 Question Id : 21052912828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The eye of Octopus and eye of cat show different patterns of structure, yet they perform
similar function. This is an example of

1. homologous organs that have evolved due to divergent evolution
2. analogous organs that have evolved due to convergent evolution

3. analogous organs that have evolved due to divergent evolution

4. homologous organs that have evolved due to convergent evolution

Options :

21052950589. 1
21052950590. 2
21052950591. 3
21052950592. 4

Question Number : 98 Question Id : 21052912828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aegy Yl facel & 3iE fiF UeR @1 93991 GUId & Jyiid 3 9 &4 ®3d 6| 98 3ae0 &

1. oIy 3 o1 [derg 3ogrRl fasry 9 g
2. ATEY 37 oD [dH ATHIRUTG HHAT fadra 4 ga
3. 3EU 7 oo fdmTy SuaRl fasry 9 ga
4, GG 3471 oAt faerg Sfaruiig HarTd faeg © g3

Options :
21052950589. 1
21052950590. 2
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21052950591. 3
21052950592. 4

Question Number : 99 Question Id : 21052912829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Haemophilia is more commonly seen in human males than in human females because

1. It is a X-linked recessive disease
2. A greater proportion of girls die in infancy
3. Itis a Y-linked recessive disease
4, Itis a X-linked dominant disease

Options :

21052950593. 1
21052950594. 2
21052950595. 3
21052950596. 4

Question Number : 99 Question Id : 21052912829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fedifthfern Ara TR, Argredl & qo-1 § HfUdar U Sk e :

1. 98 X-Ua¥ UHEI I 8

2. JHYHAR FMcid] 9994 H ol AL 9idl ©
3. g8 Y - U AUHIEI I B

4,98 X - oy UHIE AT 8

Options :

21052950593. 1
21052950594. 2
21052950595. 3
21052950596. 4

Question Number : 100 Question Id : 21052912830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List | with List Il

List | List Il

A. Primary consumers |l. Top carnivore
B. Tertiary consumers  |Il. Herbivore

C. Producers IIl. Carnivore
D. Secondary consumers||V. Plants

Choose the correct answer from the options given below:

1. A-lll, B-1, C-IV, D-lI
2. A-ll, B-1, C-IV, D-llI
3. A-ll, B-lll, C-|, D-IV
4. A-lll, B-ll, C-IV, D-l

Options :

21052950597. 1
21052950598. 2
21052950599. 3
21052950600. 4

Question Number : 100 Question Id : 21052912830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong

Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

i | -l

3, urdffe IuHia . gatd AIGRERI
g, gdig® UG I, TAMBTBRI

9. 3diGH 11, AR

. fadiad Iqyiad V. e

Hrd feu e faseal H 9 98 I AU

1.H-U,d-1,"H-1V, G-

2H-ILd-L,"9-1V,&- 1l
3H-ILE-1,9-1, G-IV
4. 34-1,9-1,9-1V, G-

Options :

21052950597. 1
21052950598. 2
21052950599. 3
21052950600. 4
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Part III Chemistry 8

Section Id : 210529180
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529431
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 21052912831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following undergoes nucleophilic substitution exclusively by SN1 mechanism?

1. Methyl chloride

2. Cyclohexyl chloride
3. Isopropyl chloride
4. Benzyl chloride

Options :

21052950601. 1
21052950602. 2
21052950603. 3
21052950604. 4

Question Number : 101 Question Id : 21052912831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafafaa & T 791 sN, 93 gR1 9= ¥4 § gfeaaiibioe ufawiig 9 R4l 82

1. FuEd aaREs
2, UiEadloiaad daRIgS
3. AEFYYUET WRISS
4. d91Sd GARISS

Options :
21052950601. 1
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21052950602. 2
21052950603. 3
21052950604. 4

Question Number : 102 Question Id : 21052912832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following has highest percentage of chlorine?

1. Chlorobenzene

2. Chloral

3. Pyrene

4. Hexachlorocyclohexane

Options :

21052950605. 1
21052950606. 2
21052950607. 3
21052950608. 4

Question Number : 102 Question Id : 21052912832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 5 9 foad ook & ufawg gaifas &2

1. FARI §911A
2. TR
ERVIENIE
Options :
21052950605. 1
21052950606. 2

21052950607. 3
21052950608. 4

Question Number : 103 Question Id : 21052912833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If a compound, Y boils at 315 °C with little decomposition then, the impure compound Y can
be purified by

1. Simple distillation

2. Vacuum distillation

3. Extraction with solvent
4, Steam distillation

Options :

21052950609. 1
21052950610. 2
21052950611. 3
21052950612. 4

Question Number : 103 Question Id : 21052912833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afg U 9, v UIST 3Uge- & 91Y 315 °C W Iaadl 8, ol IS D Y Bl gRI
< a1 o g&ar 8

1. Y9I HTHGH

2. fAafd smgaq

3. faama® & ay e
4, HT9 3THET

Options :

21052950609. 1
21052950610. 2
21052950611. 3
21052950612. 4

Question Number : 104 Question Id : 21052912834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
On reaction of ethene with Baeyer's reagent, the product is

1. Ethane

2. Ethene

3. Diethyl ether
4. Ethylene glycol

Options :
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21052950613. 1
21052950614. 2
21052950615. 3
21052950616. 4

Question Number : 104 Question Id : 21052912834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g &t 99 fpd® & gy ufafhar R &9 SOG s9d1 &

Options :

21052950613. 1
21052950614. 2
21052950615. 3
21052950616. 4

Question Number : 105 Question Id : 21052912835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic?

1. Heptane-2,4-dione

2. Heptane-2,5-dione
3. Heptane-2,6-dione
4. Heptane-2,3-dione

Options :

21052950617. 1
21052950618. 2
21052950619. 3
21052950620. 4

Question Number : 105 Question Id : 21052912835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fFafaRead # 9 &9 999 sifte 3wy 2

1. 8UcH-2,4- S
2. 8UcH- 2,5- SIS3fH
3. 8UcH- 2,6- Sl
4, 8UCH- 2,3- SR

Options :

21052950617. 1
21052950618. 2
21052950619. 3
21052950620. 4

Question Number : 106 Question Id : 21052912836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Benzoic acid reacts with nitric acid and sulphuric acid to give

1. 2-Nitrobenzoic acid
2. 3-Nitrobenzoic acid
3. 4-Nitrobenzoic acid
4, 2,4 6-Trinitrobenzoic acid

Options :

21052950621. 1
21052950622. 2
21052950623. 3
21052950624. 4

Question Number : 106 Question Id : 21052912836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Slg® 3K, AR R R GordRd R & Gy Uidindl B a1 §41d1 6

1. 2132 3D HK
2. 3-ATZCIEI3D 3
3. 4-7-113@3 :3-]335 I
4. 2,4,6- TRATSCIa~Igd K

Options :
21052950621. 1
21052950622. 2
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21052950623. 3
21052950624. 4

Question Number : 107 Question Id : 21052912837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not exhibit optical isomerism?

1. Tartaric acid
2. Maleic acid
3. Lactic acid
4, Alanine

Options :

21052950625. 1
21052950626. 2
21052950627. 3
21052950628. 4

Question Number : 107 Question Id : 21052912837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fFafaiad # 9 &1 91 3iffte yau Saagad &1 WeRiH Fal dl o7

1. TRER® Hd
2. Bfers® 3

Options :

21052950625. 1
21052950626. 2
21052950627. 3
21052950628. 4

Question Number : 108 Question Id : 21052912838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the product will be obtained in the reaction?

CHoNH,
HNO,

—_— -

0-5 °C

4, _H)

Options :

21052950629. 1
21052950630. 2
21052950631. 3
21052950632. 4

Question Number : 108 Question Id : 21052912838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafeaRaa siftfrar & oF a1 3 urd faar s

CH,NH,
HNO,

-

0-5°C

5o

Options :
21052950629. 1
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21052950630. 2
21052950631. 3
21052950632. 4

Question Number : 109 Question Id : 21052912839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds have least pK; value?

1. NC-CH-CHz-NH3

2. N(CaHs)3
3. CH3NH:
4, HO-CH>NH;

Options :

21052950633. 1
21052950634. 2
21052950635. 3
21052950636. 4

Question Number : 109 Question Id : 21052912839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frgfafad | &g diffi® @1 pK, 9 994 ®H AT

1. NC-CH> -CH3 -NH3>
2. N(CaHs)3

3. CH3-NH:

4, HO-CHaNH;

Options :

21052950633. 1
21052950634. 2
21052950635. 3
21052950636. 4

Question Number : 110 Question Id : 21052912840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the percentage of adenine in DNA is 30%, then what will be the percentage of guanine?

1. 30%
2. 20%

3. 70%
4. 60%

Options :

21052950637. 1
21052950638. 2
21052950639. 3
21052950640. 4

Question Number : 110 Question Id : 21052912840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TR ST ¥ TS &1 Ufd=id 30% 8, df T3 &1 ufdsia &1 givm?

1. 30%
2. 20%
3. 70%
4. 60%

Options :

21052950637. 1
21052950638. 2
21052950639. 3
21052950640. 4

Question Number : 111 Question Id : 21052912841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for Raffinose.

1. It is @ monosaccharide.

2. It i1s a disaccharide,
3. It is a trisaccharide.
4. Protein

Options :
21052950641. 1
21052950642. 2
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21052950643. 3
21052950644. 4

Question Number : 111 Question Id : 21052912841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P & e Hel faded &1 994 31 |

1. 98 U AAEDUSS &
2. U8 Udh 33U 3S ol

3. U5 P TRUIIZS ¢ |
4. TIEH
Options :

21052950641. 1
21052950642. 2
21052950643. 3
21052950644. 4

Question Number : 112 Question Id : 21052912842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following monomers are unsuitable for condensation polymerization?

1. Ethanoic acid and ethanol

2. Hexane-1,6-dioic acid and ethylene glycol
3. Hexane-1,6-dioic acid and ethylenediamine
4. Hydroxyacids

Options :

21052950645. 1
21052950646. 2
21052950647. 3
21052950648. 4

Question Number : 112 Question Id : 21052912842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FafeRad thae # Y B1F 91 §U9- dgad- & [ad 00 o7

1. QYIS 3R 3R THId

2. B0 - 1, 6 - SISAHBD I AR TN TEHIa
3. BT - 1, 6 - SIHE® 3 AR TeHSBNHHA
4, BIZ SIS

Options :

21052950645. 1
21052950646. 2
21052950647. 3
21052950648. 4

Question Number : 113 Question Id : 21052912843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following has the maximum crystallinity?

1. Atactic

2. Isotactic

3. Syndiotactic

4. Syndiotactic and Atactic

Options :

21052950649. 1
21052950650. 2
21052950651. 3
21052950652. 4

Question Number : 113 Question Id : 21052912843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafafRed 7 ¥ feoud sifYean fediaar 82

1. Uclde®

2. HIZYIcfded

3. sl

4, TS fae® IR tefdes
Options :

21052950649. 1

21052950650. 2
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21052950651. 3
21052950652. 4

Question Number : 114 Question Id : 21052912844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is a secondary pollutant?

1. N>O
2. 507
3. CO3
4 PAN

Options :

21052950653. 1
21052950654. 2
21052950655. 3
21052950656. 4

Question Number : 114 Question Id : 21052912844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9§ 9 @1 91 s fadias Ugu® o2

1. N>O
2. SOz
3. CO7
4, PAN

Options :

21052950653. 1
21052950654. 2
21052950655. 3
21052950656. 4

Question Number : 115 Question Id : 21052912845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Eutrophication of lakes means

1. low In nutrients and sediments

2. high in nutrients and sediments
3. high temperature
4. less fertile

Options :

21052950657. 1
21052950658. 2
21052950659. 3
21052950660. 4

Question Number : 115 Question Id : 21052912845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il & QUIyYl &1 Haqd o

1. UlN® dedl 3R doac H BH

2. U@ dadl 3R dadc H 3=

3. 9™ diY+i+
4. ©H U5

Options :

21052950657 1
21052950658. 2
21052950659. 3
21052950660. 4

Question Number : 116 Question Id : 21052912846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following gas is released on reaction of metal with sulphuric acid?

1. Chlorine
2. Oxygen
3. Hydrogen

4. Bromine

Options :

21052950661. 1
21052950662. 2
21052950663. 3
21052950664. 4

Question Number : 116 Question Id : 21052912846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
GerIRd 3 & Ty UTg @) ifHfear R FafaRad J 9 19 9 9 Faadi 82

1. FERHA
2, AT

3. BI3SloH
4, i

Options :

21052950661. 1
21052950662. 2
21052950663. 3
21052950664. 4

Question Number : 117 Question Id : 21052912847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Which of the following has zero dipole moment?

1. NH3
2. H>0
3. Benzene
4, NO

Options :

21052950665. 1
21052950666. 2
21052950667. 3
21052950668. 4

Question Number : 117 Question Id : 21052912847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafaRed & @ fead 3= faya omof grar 27

1. NH3
2. H>0O
3. dof

4. NO

Options :

21052950665. 1
21052950666. 2
21052950667. 3
21052950668. 4

Question Number : 118 Question Id : 21052912848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The amount of heat required to raise the temperature of a body through 1 °C is called its

1. Molar Heat

2. Specific Heat

3. Entropy

4. Thermal Capacity

Options :
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21052950669. 1
21052950670. 2
21052950671. 3
21052950672. 4

Question Number : 118 Question Id : 21052912848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1°C & H1ed ¥ fodl uard &1 ar9aH S & (oU H1a=a® H™1 &1 911 $I 391 $el 9idl 6

1. HIeR ST
2.fa QIE FH T

3. Tgrdt
4. YHT &HdT

Options :

21052950669. 1
21052950670. 2
21052950671. 3
21052950672. 4

Question Number : 119 Question Id : 21052912849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which point defect in crystals does not alter the density of the solid?

1. Frenkel defect

2. Schottky defect

3. Interstitial defect
4, None of the above

Options :

21052950673. 1
21052950674. 2
21052950675. 3
21052950676. 4

Question Number : 119 Question Id : 21052912849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L ]
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fbeed H I 41 fdg 519 39 319 & U-d | uiadH el &dl 87

1. hod oy

2. TPl ¥

3. AP G

4. 379 U Bz 1 781
Options :
21052950673. 1
21052950674. 2

21052950675. 3
21052950676. 4

Question Number : 120 Question Id : 21052912850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1000 mg of a protein is dissolved in enough water to make 100.0 mL of a solution, If this
solution has an osmotic pressure of 13.3 mm Hg at 27 °C, what is the molar mass of protein?
(R = 0.0821 L atm mol"! K! and 760 mm Hg = 1 atm)

1. 14,074.3 g mol™’
2.13,074.3 g mol’
3.12,768.3 g mol™
4, 11,234.3 g mol™’

Options :

21052950677. 1
21052950678. 2
21052950679. 3
21052950680. 4

Question Number : 120 Question Id : 21052912850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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U® faagd & 100.0 mL §9H & T gaie Ul & 1000 mg Wi STal oiidl 8| afe 39 faag |
27.3 °C TR 13.3 mm Hg P U6 WIERY G4 &, Ol Ui $1 HIeR So3qH &1 87
(R = 0.0821 L atm mol™" K" 3R 760 mm Hg = 1 atm )

1. 14074.3 g mol™’
2.13074.3 g mol™’
3.12768.3 g mol™
4,11234.3 g mol™

Options :

21052950677. 1
21052950678. 2
21052950679. 3
21052950680. 4

Question Number : 121 Question Id : 21052912851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the effect of adding a catalyst on the activation energy (Ea) of a reaction?

1. Activation energy decreases.

2. Activation energy increases.

3. Activation energy remains the same.
4, It depends on the reaction.

Options :

21052950681. 1
21052950682. 2
21052950683. 3
21052950684. 4

Question Number : 121 Question Id : 21052912851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U® AHHfhar ST Tihgu H91 (£,) TR ISR S I FIUYHG sIdl 6 ?

1. 9fpaur Sl HH 8 J1dl 6|
2. Gihgul Huil §¢ Sl |

3, Ifepgur Sl G9H Edl 2
4. g AfHfpar R AR dRar gl

~
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Options :

21052950681. 1
21052950682. 2
21052950683. 3
21052950684. 4

Question Number : 122 Question Id : 21052912852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which cell is used in automobiles and inverters?

1. Mercury Cell

2. Fuel Cell
3. Lead storage cell
4. Dry cell

Options :

21052950685. 1
21052950686. 2
21052950687. 3
21052950688. 4

Question Number : 122 Question Id : 21052912852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JicHEEd 3R 39cX H g 9d &1 IugiT gl I 82

1. ORI 94
2. 3y 94
3. 08 U9 9

4, 55 9d

Options :

21052950685. 1
21052950686. 2
21052950687. 3
21052950688. 4

Question Number : 123 Question Id : 21052912853 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegeduniaa
India’s largest Student Review Platform

Correct Marks : 4 Wrong Marks : 1



Which of the following is a distinct feature of physiosorption?

1. It is caused by chemical bond formation.
2. It is highly specific in nature.

3. Itis irreversible

4. None of the above

Options :

21052950689. 1
21052950690. 2
21052950691. 3
21052950692. 4

Question Number : 123 Question Id : 21052912853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad d 9 o1 Yifds ey &1 te Ay fagudr e 2

1. U8 YOS AEY T34 & HRUBIAl ol
2. U8 Ul H rafes fafp 8|

3. T8 3chH0Al &

4. 3TH Y Big Hi Tt

Options :

21052950689. 1

21052950690. 2

21052950691. 3
21052950692. 4

Question Number : 124 Question 1d : 21052912854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The conductance in electrolyte conductors is due to

1. Flow of free mobile electrons.
2. Movement of ions.
3. Both of the above
4. None of the above

Options :

21052950693, 1
21052950694. 2
21052950695. 3
21052950696. 4

Question Number : 124 Question Id : 21052912854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dyduYey dIqd H dicdd by BRI eidl &

1. Jad HIE13d gadeiHl &1 HaTg |
2. gl B 91|
3. SRl

4,39 B3 H T8l
Options :
21052950693. 1
21052950694, 2

21052950695. 3
21052950696. 4

Question Number : 125 Question Id : 21052912855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for function of a catalyst in a chemical reaction

1. Reduces enthalpy of reaction

2. Decrease rate constant of reaction

3. Increases activation energy of reaction

4. Does not affect the equilibrium constant of reaction

Options :

collegedunia:s
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21052950697. 1
21052950698. 2
21052950699. 3
21052950700. 4

Question Number : 125 Question Id : 21052912855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Us AR Sfufedr § te 3aRe & 1 & [T Gel faded &1 959 3% 7

1. AHfHfHar $ A B FH Bl o

2. Jifferar & 37 RIS | &4

3, i ot afisadr Saf agdr g

4, 3iffpar & 9r fRRIS & TaR yHIfad 78! &dl &

Options :

21052950697. 1
21052950698. 2
21052950699. 3
21052950700. 4

Question Number : 126 Question Id : 21052912856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the solubility product of Pb3(POy); is 1.5 X 10734, then what will be the solubility in gms/litre?

1.2.92x 1077
2.494x 10712
3.742 x 10*
4,892x 1073

Options :

21052950701. 1
21052950702. 2
21052950703. 3
21052950704. 4

Question Number : 126 Question Id : 21052912856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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G Pb3(PO,); 1 faaadl UHTd 1.5 x 10328, df faaadl gms/L & &1 811 2

1.2.92x 1077
2.494 x 1072
3.742x 10%*
4,892x 107

Options :

21052950701. 1
21052950702. 2
21052950703. 3
21052950704. 4

Question Number : 127 Question Id : 21052912857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At the same temperature, the average molar kinetic energy of N> and CO is

1. KEnz > KEco
2. KEno < KEcp
3. KEn2 = KEep
4. insufficient information given

Options :

21052950705. 1
21052950706. 2
21052950707. 3
21052950708. 4

Question Number : 127 Question Id : 21052912857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U ol dIgdH TR N> 3R CO @ Gd AR Tifas Sl a1 &

1. KEn2 > KEcg
2. KEno < KEep

3. KEn2 = KEcp
4, UG SHDRI Gl
Options :

21052950705. 1
21052950706. 2
21052950707. 3
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21052950708. 4

Question Number : 128 Question Id : 21052912858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to the Avogadro's law, what is the relation between volume of 1 kg mol of oxygen
and volume of 1 kg mol of nitrogen, at normal pressure and temperature? ( mass of 1 kg mol
of oxygen is 32 kg and mass of 1 kg mol of nitrogen is 28 kg)

1. volume of 1 kg mol of oxygen is greater than volume of 1 kg mol of nitrogen
2. volume of 1 kg mol of oxygen is less than volume of 1 kg mol of nitrogen

3. volume of 1 kg mol of oxygen is same as volume of 1 kg mol of nitrogen

4. none of the above

Options :

21052950709. 1
21052950710. 2
21052950711. 3
21052950712. 4

Question Number : 128 Question Id : 21052912858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UGRIS! & FOH & 3ER, 1 kg AT HTaToM BT T AR 1 kg HId A1ZeioH & 00 & &g
ey 397 & TH GE19 3R di9HE UR7 (1 310 Ao &1 5009 32 kg & 3R 1 Jid Tigereq
@1 %o4HH 28 kg 8)

1. HIFHISH & 1 kg I BT HGTG A13IoH DI qa-l H U gidl 8
2. HIFISH & 1 kg HId BT HGIA AlZero- &I ga-l § &Y 8idl &
3. HIFHISH & 1 kg A BT G 1320 & 99 8ldl &

4, 3TH I D5 H 6l

Options :

21052950709. 1

21052950710. 2

21052950711. 3
21052950712. 4

Question Number : 129 Question Id : 21052912859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which statement is ‘true’ for K, the equilibrium constant of a specific reaction?

1. It may be changed by the addition of a catalyst.

2. It increases if the concentration of one of the products is increases.
3. It changes with changes in the temperature.

4, It increases if the concentration of one of the reactants is increased.

Options :

21052950713. 1
21052950714. 2
21052950715. 3
21052950716. 4

Question Number : 129 Question Id : 21052912859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fafzry sififerar 5 wrg RRRi® '« & T & 91 $YH T8l 87

1. 38 IR FI Iuffa & SGar o Gpal g

2. T8 95l & AR US IdIG &I Wig0 & 3iS gt o

3, g8 U9 H 9Gard & 1Y §Gadl o

4, g 9gdl § 3R U@ ATUHas @ Qigun & 3f gt 8

Options :

21052950713. 1
21052950714. 2
21052950715. 3
21052950716. 4

Question Number : 130 Question Id : 21052912860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In some solutions, the concentration of HiO™ remains constant even when small amounts of
strong acid or strong base are added to them. These solutions are known as

1. ideal solution

2. colloidal solution
3. true solution
4, buffer solution

Options :

21052950717. 1
21052950718. 2
21052950719. 3
21052950720. 4

Question Number : 130 Question Id : 21052912860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o [Guga #, H;0* B Figtl R IGd1 &, 519 BICT #E H Holgd 31 31 Holgd §R® 39 Sis|
STl 8| 3 faag &1 o471 Hgl Jidl 8

1. ey faaga

2. PIAESad [dad-
3, gumY faaaq

4, IYgufaish fagaa

Options :

21052950717. 1
21052950718. 2
21052950719, 3
21052950720. 4

Question Number : 131 Question Id : 21052912861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In an open system, for maximum work, the process must be entirely

1. irreversible

2. reversible

3. adiabatic

4, none of the above

Options :

21052950721. 1
21052950722. 2
21052950723. 3
21052950724. 4

Question Number : 131 Question Id : 21052912861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g Ao #, 3fddds & & oY, UshH o1 g1 diigt

1. AP HIOMAT

2. IchHIuA]

3. 3G
4,399 9 Big Hi 781
Options :
21052950721. 1
21052950722. 2

21052950723. 3
21052950724. 4

Question Number : 132 Question Id : 21052912862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following drug is being used in cancer therapy?

1. Taxol

2. Azidothymidine
3. Brompheniramine
4. Meprobamate

Options :
21052950725. 1
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21052950726. 2
21052950727. 3
21052950728. 4

Question Number : 132 Question Id : 21052912862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R Fafewr & Fufafea § ° g gar &1 3ugi fear siidr &2

Options :

21052950725. 1
21052950726. 2
21052950727. 3
21052950728. 4

Question Number : 133 Question Id : 21052912863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of mass of electron to proton is

1.5.44 x 107
2. 544 x 10*
3.1.83 x 10
4,183 x 10*

Options :

21052950729. 1
21052950730. 2
21052950731. 3
21052950732. 4

Question Number : 133 Question Id : 21052912863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
gcollegeduniaa
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gaideF/Miei- & $odH ®I U ©

1.5.44 x 107
2.544 x 10*
3.1.83 x 10
4,1.83 x 10*

Options :

21052950729. 1
21052950730. 2
21052950731. 3
21052950732. 4

Question Number : 134 Question Id : 21052912864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List | List Il
A. lonic |. NH3.BF3
B. Covalent I, HCI

C. Hydrogen bond |lIl. LiF
D. Coordinate bond|IV. HF
Choose the correct answer from the options given below:

TLA-I,B-IILC-IV,D-|
2Z2A-NLB-ILC-I,D-IV
3.A-ILB-ILC-1V,D-|
4 A-1,LB-I,C-I,D-WV

Options :

21052950733. 1
21052950734. 2
21052950735. 3
21052950736. 4

Question Number : 134 Question Id : 21052912864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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ufdd | 7 € 713 aegHi &1 ufdd 1 H fau e Ireren & 9y fHeH a1

uia | ufaa 1

A. TS . NH3.BF;

B. Yeudiaid II. HC

C. BIZSioH &Y [IIl, LiF

D. UGG HTEH|IV. HF

= fu e fameal § ¥ 98 S gL

TA-ILB-IILC-IV,D-I
2A-ILB-ILC-1,D-IV
A= LB =ILC=IV, D=
4 A-1LB-NILC-I,D-IV

Options :

21052950733. 1
21052950734. 2
21052950735. 3
21052950736. 4

Question Number : 135 Question Id : 21052912865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements related to the modern periodic table is incorrect?

1. The p-block has 6 columns, because a maximum of 6 electrons can occupy all the orbitals in
a p-shell.

2. The d-block has 8 columns, because a maximum of 8 electrons can occupy all the orbitals in
a d-subshell.

3. Each block contains a number of columns equal to the number of electrons that can occupy
that subshell.

4. The block indicates value of azimuthal quantum number (l) for the last subshell that
received electrons in building up the electronic configuration.

Options :

21052950737. 1
21052950738. 2
21052950739. 3
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21052950740. 4

Question Number : 135 Question Id : 21052912865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YR rad gRufl § Yefia Fafaiad § 9 oF 9 du- 7Tad 87

1. p-&IId & 6 371 Bl &, FITh HUDTH 6 IAIdCI- Ud p-Xci DI H&D H 3 b 6|

2. d-1d | 8 T Bid &, FITP AHUHAH 8 Fade d-9d U D] D& J AT THd 8|

3. Ud® i § Faide] &1 YW1 & §206R 11 8ld & ol 9d Xd &1 Ha&fd J 3 I&d o

4, 3ifq e U9 Ta & farieig Faiey 9= (1) & 90 31 HHfd &al & & 3aaei-d [aard
& fAmio | saae il &1 Uid ddl o

Options :

21052950737. 1
21052950738. 2
21052950739. 3
21052950740. 4

Question Number : 136 Question Id : 21052912866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List 11

A. spd |l. BrFs

B. dsp? Il. PFs

C. sp3d? 1. [PtCla)®

D. d’sp” IV. [Co(NH3)sl**

Choose the correct answer from the options given below:

VA=ILEB=ULG-0Y, D=
ZA-NLB-ILC-I,D-IV
3A-NILB-ILC-IV,D-I
4 A-1LB-ILC-I,D-IV

Options :

21052950741. 1
21052950742. 2
21052950743. 3
21052950744. 4
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Question Number : 136 Question Id : 21052912866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I Gl -1 § gaferd Pifer :

gl -| ol -1l

A. spd . BrFs

B. dsp? II. PFs

C. spid? |11, [Pty

D. d’sp> IV. [Co(NH3)s]**

e R e R e T

LA-ILB-U,C-IV, D-I
2Z2A-1LB-ILC-I, D-IV
3.A-NLB-ILC-IV, D-I
4 A-1LB-IILC-I, D-IV

Options :

21052950741. 1
21052950742. 2
21052950743. 3
21052950744. 4

Question Number : 137 Question Id : 21052912867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A:

In the given equation

Phosphorus is undergoing oxidation as well as reduction.

P, + 30H +3H,0 — PH, + 3H,PO,

Reason R:

The phosphorus of PH3 is in +3 oxidation state and it is converted to -1 oxidation state in
H>PO;™,

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950745. 1
21052950746. 2
21052950747. 3
21052950748. 4

Question Number : 137 Question Id : 21052912867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hd gl By RU MU B . Udh I AHDHYA (A) R G B ddb (R) el T4 5
HHDHYA (A) : FGT T FHiH0 H BRORY RS0 & FY-T1Y Iuag Hl S w1 8

P, + 30H +3H,0 — PH, + 3H_PO;

dd (R): PH; H BIEHRY +3 AP0 AT H 8 HR T8 H,PO»™ H -1 HIGHIH0l a1 §

yfafdd gl Jar 8|

Iugad Byl @ AT H Fgifed [dheal § 9 98l ST g4 ;

1. (A) 3R (R) THI T8 & 3R (R), (A) B! TSI =T B

2. (A) 3R (R) GHI U&1 & U3 (R), (A) B! Ue! AARSAT ! o
3. (A) 9ol 8 U] (R) Ul el g

4. (A) Tel 61 & W (R) He1 &

Options :

21052950745. 1
21052950746. 2
21052950747. 3
21052950748. 4

Question Number : 138 Question Id : 21052912868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il

List |

List Il

A. Combination reactions

L. Cry0; (s) + 2A1(s) i- ALOj3 (s) = 2Cr (s)

B. Decomposition reactions

I 2KCIOs () —= w 2KCI(s) + 303 (g)

C. Non-metal displacement

I CHy (@) = 205 (@) —2w €O (g) + 2H:0 ()

D. Metal displacement

V. 2Fe () = 3H,O () iﬁ- Fex03 () + 3H; (g)

Choose the correct answer from the options given below:

TLA-ILB-I,C-IV,D-I
A=W, B=ILC=-LD=N¥

A=-NLB=ILC-1V, D=
4 A-ILB-lLC-I,D-1IV

Qcollegeduniaa
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Options :

21052950749. 1
21052950750. 2
21052950751. 3
21052950752. 4

Question Number : 138 Question Id : 21052912868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T -1 B - A g B

i | i -1l
A, TS .
fHfchan Cr0; () +2A1(s) —— = ALO; (s) = 2Cr (s)

1.

B. 3(UgcH HfHHTT |II. 2KCI0; (5) L.- IKCI (s) + 305 (g)

C. 3uTq fawm=
i CH; (2) = 205 (2) . CO; (g) + 2H,0 (1)
V.
D. ¢7q fawimaA
dFe(s) = 3H:0 (1) ——— Fea0;(s)+ 3Hs (2)
Hd fgu ¢ fadedl H § Tl Ik 9T

LA-ILB-U,C-1IV, D-I
ZA=-lILB=1LC-| D=V
3.A-NILB-ILC-1V, D-I
4 A-1,B-IILC-I|, D-IV

Options :

21052950749. 1
21052950750. 2
21052950751. 3
21052950752. 4

Question Number : 139 Question Id : 21052912869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Among LiH, NaH, KH, RbH, CsH, the correct order of increasing ionic character is

1. LiH > NaH > CsH > KH>RbH

2. RbH > CsH > NaH > KH > LiH
3. LiH < NaH < KH < RbH < CsH
4. NaH » CsH > RbH > LiH > KH

Options :

21052950753. 1
21052950754. 2
21052950755. 3
21052950756. 4

Question Number : 139 Question Id : 21052912869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LiH, NaH, KH, RbH, CsH T 3151 Il & d9¢- &1 Ual H W1 o

1. LiH > NaH > CsH > KH > RbH
2. RbH > CsH > NaH > KH > LiH
3. LiH < NaH < KH< RbH < CsH
4. NaH > CsH > RbH > LiH > KH

Options :

21052950753. 1
21052950754. 2
21052950755. 3
21052950756. 4

Question Number : 140 Question 1d : 21052912870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

A. H and O l. used in the name of perhydrol

B. D;0O Il. can be used in cutting and welding
C. H,0> lll. atomic reactor

D.H IV. produced from electrolysis of water

Choose the correct answer from the options given below:

TL.A-ILB-IILC-IV,D-I
2A-IV,B-IIlLC-1,D-1I
3A-IV,B-IIILC-1,D-1
4 A-ILB-LC-I,D-IV

Options :

21052950757. 1
21052950758. 2
21052950759. 3
21052950760. 4

Question Number : 140 Question Id : 21052912870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &l g1 -1 § gaferd Piferg :

gl -| gl -1l

AH, RO, | UREIZSIA & 19 ¥ 39gi fehar aar g

B. D;0 I1. @1+ 3R 3fceT # %A fdar o ¥adl &
C. H,0; |11, THTT] RUaER

D.H V. T @ dydsiaded 9 Idifad

At feu e faseal H 9 98 I AU

TLA-ILB-IILC-IV, D-I
2A-IV,B-IIlLC-1, D-1l
FA-NV, B-IC-1l, D=]
4 A-1,LB-ILC-I, D-IV

Options :

21052950757. 1
21052950758. 2
21052950759. 3
21052950760. 4
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Question Number : 141 Question Id : 21052912871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following metal halides is soluble?

1. BeCl>
2. MgCl;
3. CaCl,
4, SrCl

Options :

21052950761. 1
21052950762. 2
21052950763. 3
21052950764. 4

Question Number : 141 Question Id : 21052912871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad § 9 o 9 uid saiss go-siid 8 2

1. BeCl>
2. MgCl;
3. CaCls
4, SrCl5

Options :

21052950761. 1
21052950762. 2
21052950763. 3
21052950764. 4

Question Number : 142 Question Id : 21052912872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 1l

A. Na . Brick Red
B.Cs II. Yellow
C.Ca 1l. Blue
D.K IV. Lilac

Choose the correct answer from the options given below:

A= 1L B=1L L=V, =]
2A-IV,B-IIILC-|,D-Il
3A-IV,B-IIILC-1,D-1
4 A-1LB-IL,C-I,D-WV

Options :

21052950765. 1
21052950766. 2
21052950767. 3
21052950768. 4

Question Number : 142 Question Id : 21052912872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 &I g1 -1 § gaferd Piferg :

Il -| i -1l

A. Na . 3¢ oI ATd
B.Cs 11, e

C.Ca 111, AT

D.K V. §THT SBIeH

TLA-ILB-ILC-1V, D-I
ZA-I,B=-ILC=), D=1
3A-IV,B-IIlLC-1l, D-1I
4 A-1,LB-ILC-I|, D-IV

Options :

21052950765. 1
21052950766. 2
21052950767. 3
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21052950768. 4

Question Number : 143 Question Id : 21052912873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Schottky defect is observed in crystals when

1. Some cations move from their lattice site to interstitial sites.

2. Equal number of cations and anions are missing from the lattice.
3. Some lattice sites are occupied by electrons.

4. Some impurity is present in the lattice.

Options :

21052950769. 1
21052950770. 2
21052950771. 3
21052950772. 4

Question Number : 143 Question Id : 21052912873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S foreed | Scd] &N ¢@l 9idl &

1. DS Y YD s Uige 4 AGUHRN G5y W 0d o
2. Sici § GHM Y10 3R FOgE &1 9% 149 gl
3. DY WD Gigel UR goidgi-l gRT desll dR ol

4, ST H 9 HYSdl HG ol

Options :

21052950769. 1
21052950770. 2
21052950771. 3
21052950772. 4

Question Number : 144 Question Id : 21052912874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is incorrect?

1. A depressant prevents certain type of particles to come to the froth.

2. Copper matte contains Cu;S and FeS.

3. The solidified copper obtained from reverberatory furnace has blistered appearance due to
evolution of SO; during the extraction.

4. Zinc can be extracted by self-reduction.

Options :

21052950773. 1
21052950774. 2
21052950775. 3
21052950776. 4

Question Number : 144 Question Id : 21052912874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFaffEd | 9 &9 91 $Y9 TTad &2

1. U HGHIG P& YOR & U Bl AN &1 9§ Addl 8

2. IR AT H CusS 3R FeS BId &1

3. QRIGARH Hg1 ¥ I 31 arF Bhial ofdl fa@rs adl & adiid HSpyUl & GRH SO, & Fdy
gor el

4, i W-3g9g- ¥ T 51 9ol |

Options :

21052950773. 1
21052950774. 2
21052950775. 3
21052950776. 4

Question Number : 145 Question Id : 21052912875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Extraction of chlorine from brine occur when

1. AGy, for the overall reaction is negative and Ey for overall reaction has negative value.
2. AGy, for the overall reaction is positive and Ey for overall reaction has negative value.
3. AGy, for the overall reaction is positive and Ey for overall reaction has positive value.

4. AGy, for the overall reaction is negative and Ey for overall reaction has positive value.
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Options :

21052950777. 1
21052950778. 2
21052950779. 3
21052950780. 4

Question Number : 145 Question 1d : 21052912875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JqUgad id (S13) 9 FaRIF ®I (AHE0 74 8idl &

1. 999 AfHfepar & U AG, Hud® & R 999 Hfifehar & T £, &1 TR 9 6

2. gy AT & U AG, PRIED & HR 99 Uil & fot £, 1 ToRIES 9H 8|
3. gAY Mfufehar & iU AG, TPRTHES & AR 999 ffehar & T £, &1 IHRIES AF 6
4, Ty ATl & U AG, THRIES § IR 99 Afufehal & T £, T GHRITED T 5

Options :

21052950777. 1
21052950778. 2
21052950779. 3
21052950780. 4

Question Number : 146 Question Id : 21052912876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the preparation of compounds of Xe, Bartlett had taken O,"PtFg™ as a base compound due
to

1. Both O; and Xe have same size.

2. Both O; and Xe have same electron gain enthalpy.

3. Both Xe and O; are gases.

4. Both O; and Xe have almost same ionisation enthalpy.

Options :

21052950781. 1
21052950782. 2
21052950783. 3
21052950784. 4

Question Number : 146 Question Id : 21052912876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Xe & UIT®H] B G911 & (010, GRTC 7 02" PtFe @I YR & ©U H a1 uT Fite

1. GHI 05 3R Xe BT PR G4 B

2. GHf 0, 3R Xe & YU aae a4 Tl B
3. GHI Xe 3R 0, 1 B

4, GHT 0, AR Xe & THT TH 1 1G4 TUAT o

Options :

21052950781. 1
21052950782. 2
21052950783. 3
21052950784. 4

Question Number : 147 Question Id : 21052912877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a pyrophosphoric acid molecule, how many single and double bonds are present?

1. 3 double bonds; 9 single bonds

2. 2 double bonds; 6 single bonds

3. 2 double bonds; 12 single bonds

4, Zero double bonds; 12 single bonds

Options :

21052950785. 1
21052950786. 2
21052950787. 3
21052950788. 4

Question Number : 147 Question Id : 21052912877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U UGG 3 U] H, foha- Udhd 3R G ey Hi9g 82

1. 3 fg® HEY; 9 THd HEY
2. 2 g MEY; 6 Thd &Y
3. 2 fg EY; 12 Thd &Y
4, I fgd €Y 12 Thd &Y
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Options :

21052950785. 1
21052950786. 2
21052950787. 3
21052950788. 4

Question Number : 148 Question Id : 21052912878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for SO; gas?

1. It acts as bleaching agent in moist conditions.

2. It has non-linear geometry.

3. It's dilute solution is used as disinfectant.

4. It can be prepared by the reaction of dilute H,SO4 with metal sulphide.

Options :

21052950789. 1
21052950790. 2
21052950791. 3
21052950792. 4

Question Number : 148 Question Id : 21052912878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fofaRad & € &F 91 $Y9 7ad & 50, 19 & faw

1. 9g 94 fRufcal 7 faie tole & TU 5 o1 oidl

2. 39 3] ¥ R-3Eg saifafa

3. 3YHI Uqdl [aeg- BIRVHERS & ¥4 H I9gi [6a1 S 6|

4. g YT Gehlgs & Uy SHAYT H,50, &I HHshaT 9 d4R fiodr 51 9ohdi 8 |

Options :

21052950789. 1
21052950790. 2
21052950791. 3
21052950792. 4

Question Number : 149 Question Id : 21052912879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement is true?

1. Interaction between particles of noble gases is due to weak dispersion forces.
2. lonisation enthalpy of molecular oxygen is very close to that of krypton.

3. Hydrolysis of XeFg is a redox reaction.

4. Xenon fluorides are not reactive.

Options :

21052950793. 1
21052950794. 2
21052950795. 3
21052950796. 4

Question Number : 149 Question Id : 21052912879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFafafed & € &9 91 Y4 93 B

1. 3PP TGl F g1=afehal ®Ull § Wk GRA&T §d & BRI eidl 6 |
2. HTUTfdeh SHiadior @1 H1g=H Taudl fohp= & 9gd Hd o

3. XeF; @19 30y U Y8169 Uiafhar g

4, foR1A wIRISS sifuforariia gl 8 |

Options :

21052950793. 1
21052950794. 2
21052950795. 3
21052950796. 4

Question Number : 150 Question Id : 21052912880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Zirconium belongs to 4d transition series and Hafnium to 5d transition series but still they
shows similar physical and chemical properties because

1. both belong to d-block.

2. both have same number of electrons.

3. both have similar atomic radius.

4. both belong to the same group of the periodic table.

Options :

21052950797. 1
21052950798. 2
21052950799. 3
21052950800. 4

Question Number : 150 Question Id : 21052912880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SRPITH 4d YHHUI $Ga1 AR 8BI-TH 5d YhHU 4G & S id HIdl & i GiHl GHH
Hifds R I 1o feerd & ife

1. G d-silp 8 et B

2. Gl | Saidel ®f 9% 99 g

3. G & U3HIY] 99 g

4, T 3f1ad 9RO & U o GHE 9 Yeftd g1

Options :

21052950797. 1
21052950798. 2
21052950799. 3
21052950800. 4
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